
���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

��0XOWL�URERW� �3��� ��7HUPLQRORJ\� �3�����0DLQ�IXQFWLRQV� �3���

�■ )/,3�;�63(&,),&$7,21��
6+((7�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

�■ 5RERW�RUGHULQJ�PHWKRG�
GHVFULSWLRQ�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

�■ 5RERW�RUGHULQJ�PHWKRG�
WHUPLQRORJ\�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ��

7�7<3(�
)5$0(�/(66�6758&785(�02'(/
7�/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

7�/+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

7�/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

7�/+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

7�/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

7��ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

7�+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

)�7<3(���*)�7<3(�
+,*+�5,*,',7<�)5$0(�02'(/

)��ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

)�/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

)�/+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

)���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ��

)��+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

)���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ�

)��+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ��

*)��;/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ�

)���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ�

)��/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

*)��;/�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

)���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

)��1�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

1�7<3(�187�527$7,21�7<3(�02'(/

1���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

1��'�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ���

1���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

1��'ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

%�7<3(�7,0,1*�%(/7�'5,9(�02'(/

%���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

%���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

%��+�ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ��

5�7<3(�527$7,21�$;,6�7<3(�02'(/

5��ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ

5���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ��

5���ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ���

SERIES

6,1*/(�$;,6�52%276

&217(176



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

)/,3�;�63(&,),&$7,21�6+((7

7\SH 0RGHO
0RWRU�
RXWSXW�
�:�

5HSHDW�
DELOLW\
�PP�

/HDG
�PP�

3D\ORDG
�NJ�

6WURNH��PP��DQG�PD[LPXP�VSHHG��PP�V�

+RUL�
]RQWDO

9HU�
WLFDO �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ����

7
�W
\S

H
�

7�/�
7�/+

�� �������

�� ��� ��� ���

� � ��� ���

� � ��� ���

7�/�
7�/+

�� �������

�� � ���� ��� ��� ��� ���

�� � ��� ��� ��� ��� ��� ���

� � ��� ��� ��� ��� ��� ���

7�/ �� �������

�� � ���� ���� ���� ��� ���

�� �� � ��� ��� ��� ��� ���

� �� � ��� ��� ��� ��� ���

7� ��� �������

�� �� ± ���� ���� ���� ���

�� �� � ���� ��� ��� ���

�� �� �� ��� ��� ��� ���

� �� ��� ��� ��� ���

7�+ ��� �������

�� �� ± ���� ���� ���� ���

�� � ���� ��� ��� ���

�� �� �� ��� ��� ��� ���

� ��� �� ��� ��� ��� ���

)
�W
\S

H

)� ��� �������

�� �� ± ���� ���� ��� ��� ��� ���

�� �� � ��� ��� ��� ��� ��� ���

� �� � ��� ��� ��� ��� ��� ���

)�/ ��� �������

�� � ± ���� ���� ���� ���� ���� ��� ��� ���

�� �� � ���� ���� ��� ��� ��� ��� ��� ���

�� � ��� ��� ��� ��� ��� ��� ��� ���

� �� ��� ��� ��� ��� ��� ��� ��� ���

)�/+ ��� �������

�� �� ± ���� ���� ��� ��� ��� ��� ��� ��� ���

�� �� ± ��� ��� ��� ��� ��� ��� ��� ��� ���

� �� ± ��� ��� ��� ��� ��� ��� ��� ��� ���

)�� ��� �������

�� �� ± ���� ���� ���� ���

�� �� � ���� ��� ��� ���

�� �� �� ��� ��� ��� ���

� �� �� ��� ��� ��� ���

)��+ ��� �������

�� �� ± ���� ���� ���� ���� ��� ��� ���

�� �� � ���� ��� ��� ��� ��� ��� ���

�� �� �� ��� ��� ��� ��� ��� ��� ���

� ��� � ��� ��� ��� ��� ��� ��� ���

)�� ��� �������

�� �� ± ���� ���� ���� ���

�� �� � ���� ��� ��� ���

�� �� �� ��� ��� ��� ���

� �� �� ��� ��� ��� ���

)��+ ��� �������

�� �� ± ���� ���� ���� ���

�� �� � ���� ��� ��� ���

�� �� �� ��� ��� ��� ���

� ��� �� ��� ��� ��� ���

)�� ��� �������

�� �� ± ���� ���� ����

�� �� �� ���� ��� ���

�� ��� �� ��� ��� ���

)��/ ��� ������� �� �� ��

)�� ��� �������

�� �� ± ���� ���� ����

�� ��� �� ���� ��� ���

�� ± �� ��� ��� ���

)��1 ��� ������� �� �

*
)
�

W\
S
H *)��;/ ��� ������� �� �

*)��;/ ��� ������� �� �

1
�W
\
S
H

1�� ��� ������� �� �

1��' ��� ������� �� � ����

1�� ��� ������� �� �� ±

1��' ��� ������� �� �� ±

%
�W
\
S
H
� %�� ��� ������� ± ��

%�� ��� ������� ± ��

%��+ ��� ������� ± �� ±

7\SH 0RGHO
0RWRU�
RXWSXW�
�:�

5HSHDW�
DELOLW\
�VHF�

6SHHG�
UHGXFWLRQ�

UDWLR

0D[LPXP
VSHHG
���VHF�

'HWDLOHG�LQIR�
SDJH

5
�W
\
S
H
� 5� �� ����� ���� ��� 3����

5�� ��� ����� ���� ��� 3����
5�� ��� ����� ���� ��� 3����

w Precautions for use
■ Handling

)XOO\�XQGHUVWDQG�WKH�FRQWHQWV�VWDWHG�LQ�WKH��)/,3�;�6HULHV�8VHU
V�0DQXDO��DQG�VWULFWO\�REVHUYH�WKH�
KDQGOLQJ�SUHFDXWLRQV�GXULQJ�RSHUDWLRQ�

■ Allowable installation ambient temperature
��WR�����&



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

'HWDLOHG�LQIR�
SDJH

���� ���� ���� ���� ���� ���� ���� ���� ���� �����WR����� ���� ���� ���� ���� �����WR����� ���� ���� ���� ���� �����WR����� ���� �����WR�����

7�/�3����
7�/+�3����

7�/�3����
7�/+�3����

3����

���

3����
���

���

���

���

3����
���

���

���

3����

���

3����
���

���

���

���

3�������

���

���

3����
���

���

���

3����

���

3����
���

���

���

���

3����
���

���

���

���� ���� ��� ��� ���

3������� ��� ���

��� ��� ���

���� ���� ���� ���� ��� ��� 3����
���� ���� ��� ��� ���

3������� ��� ���

��� ��� ���

���� 3����
���� 3����

���� 3����
���� 3����

3����
���� 3����

���� 3����
���� 3����

���� 3����
���� 3����



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

Robot ordering method description
,Q�WKH�RUGHU�IRUPDW�IRU�WKH�<$0$+$�VLQJOH�D[LV�URERWV�)/,3�;�VHULHV��WKH�QRWDWLRQ��OHWWHUV�QXPEHUV�� IRU�WKH�PHFKDQLFDO�VHFWLRQ�LV�VKRZQ�

OLQNHG�WR�WKH�FRQWUROOHU�VHFWLRQ�QRWDWLRQ�

>([DPSOH@

0HFKDQLFDO�VHFWLRQ

�0HFKDQLFDO� �)�

��/HDG� ���PP
��%UDNH� �<HV
��2ULJLQ�SRVLWLRQ� �1RQ�PRWRU�VLGH

��*UHDVH� �6WDQGDUG
��6WURNH� ����PP
��&DEOH�OHQJWK� ����P

�&RQWUROOHU� �65��;

��8VDEOH�IRU�&(� �1RW�UHTXLUHG
��5HJHQHUDWLYH�XQLW� �1RW�UHTXLUHG

��,�2�VHOHFWLRQ� �131
��%DWWHU\� �With battery

�2UGHULQJ�PHWKRG

BK Z 3L SR120 500 X05 N BF8
Mechanical section Controller section

7KLV�SDJH�GHVFULEHV�XVLQJ�WKH�RUGHULQJ�IRUP�IRU�PHFKDQLFDO�FRPSRQHQWV�

To�¿nd�detailed�controller�information�see�the�controller�page.�������������������������������������������65��; ���3��������76�; ���3��������5'9�;� ���3������

Origin position
change

None
Z

Standard
Non-motor side

Origin position
change

None
Z

Standard
Non-motor side

Origin position
change

None
Z

Standard
Non-motor side

Grease 
type

None
GC

Standard
Clean

No entry
BK

No brakes
Brakes provided

No entry
BK

No brakes
Brakes provided

30
20
12
10
6
5
2

30mm
20mm
12mm
10mm
6mm
5mm
2mm

Model

T4L
T4LH
T5L
T5LH
T6L
T9
T9H

Lead designation Brake Option Stroke Cable length

F8
F8L
F8LH

Grease 
type

None
GC

Standard
Clean

No entry
U
R
L

Standard (S)
From the top
From the right
From the left

50
40
30
20
10
5

50mm
40mm
30mm
20mm
10mm
5mm

F10
F10H
F14
F14H
F17
F17L

Cable entry location

F20
F20N

Grease 
type

None
GC

Standard
Clean

RH
LH
RW
LW

Horizontal, right
Horizontal, left
Wall, right
Wall, left

20 20mmN15
N18

Cable carrier entry location

S Standard cable 
carrier

Optional cable 
carrier

M

Cable carrier specification

Grease 
type

None
GC

Standard
Clean

Grease 
type

None
GC

Standard
Clean

20 20mmN15D
N18D

Take out direction

L
R
LU
RU
LD
RD

Motor leftward, horizontal position
Motor rightward, horizontal position
Motor leftward, upper position
Motor rightward, upper position
Motor leftward, lower position
Motor rightward, lower position

B10
B14
B14H

Motor installation direction

T type / F type (F8 / F8L / F8LH)

N type (Single carriage)

N type (Double carriage)

B type

Model Lead designation Brake Option Stroke Cable length

Model Lead designation

Model Lead designation

Model

Option

Option

Option

Stroke Cable length

Stroke Cable length

Stroke Cable length

S Standard cable 
carrier

Optional cable 
carrier

M

H Horizontal
installation

Wall hanging
installation

W

Cable carrier specification

F type (Except F8 / F8L / F8LH)

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

R5
R10
R20

R type

Model Cable length

No entry
B

Standard (S)
From the side

Cable entry location

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

S Straight 
model

GF type

Model

GF14XL
GF17XL

Model Take out direction

H Horizontal
installation

3L
5L
10L
3K
5K
10K

3.5m 
5m
10m
3.5m
5m
10m

Cable lengthLead designation Stroke

20 20mm
None
Z

Standard
Non-motor 
side

Option

Origin position change
No 
entry
T

Standard
(Spot facing)
Tapping

Frame
None
GC

Standard
Clean

Grease typeNo entry
U
R
L

Standard (S)
From the top
From the right
From the left

Cable entry location



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

Robot ordering method terminology

�0RGHO (QWHU�WKH�URERW�XQLW�PRGHO�

�0RGHO 6WUDLJKW�PRGHO�RQO\��*)�W\SH�

�/HDG�GHVLJQDWLRQ 6HOHFW�WKH�EDOO�VFUHZ�OHDG�

�%UDNH

6HOHFW�%UDNH�RU�1R�EUDNH��

+RUL]RQWDO�VSHFV���1R�EUDNH��

9HUWLFDO�VSHFV� ��ZLWK�%UDNH

�7DNH�RXW�GLUHFWLRQ 6HOHFW�ZKDW�GLUHFWLRQ�WR�LQVWDOO�WKH�URERW��KRUL]RQWDO���ZDOO�PRXQWHG��

�&DEOH�HQWU\�ORFDWLRQ
6HOHFW�ZKDW� GLUHFWLRQ� WR� H[WUDFW� WKH� URERW�FDEOH�FRQQHFWLQJ� WKH� URERW�DQG�

FRQWUROOHU�

�&DEOH�FDUULHU�HQWU\�
ORFDWLRQ

6HOHFW�ZKDW�GLUHFWLRQ� WR�LQVWDOO� WKH�URERW� �KRUL]RQWDO� ��ZDOO�PRXQWHG��DQG�ZKDW�

GLUHFWLRQ�WR�H[WUDFW�WKH�URERW�FDEOH�FDUULHU�

LWRH Horizontal, right RW Wall, right LH Horizontal, left Wall, left

Be sure to install in the direction as specified (in cable carrier take-out direction drawing and various specification drawings) individually. Installation 
in any other way will cause a failure. For requirement of installation in any way other than the above standard installation, please consult YAMAHA 
as special arrangement will be available.

Note.

�&DEOH�FDUULHU��
speci¿cation

6HOHFW�WKH�FDEOH�FDUULHU�VL]H�IRU�WKH�FXVWRPHU�ZLULQJ�

16
8

145 86

57
73

35 25

58

11
9

145 61 14

40

M typeS type

Space for optional cable for users

Standard cable carrier Optional cable carrier

Note. Cannot pass more than 3 urethane hoses (ϕ6 x 4).

�0RWRU�LQVWDOODWLRQ�
GLUHFWLRQ

6HOHFW�ZKDW�GLUHFWLRQ�WR�LQVWDOO�WKH�PRWRU�

/HIWZDUG�DW�
KRUL]RQWDO�
SRVLWLRQ

/�W\SH 5LJKWZDUG�
DW�KRUL]RQWDO�
SRVLWLRQ

5�W\SH /HIWZDUG�DW�
XSSHU�SRVLWLRQ

/8�W\SH 5LJKWZDUG�DW�
XSSHU�SRVLWLRQ

58�W\SH

/HIWZDUG�DW�
ORZHU�SRVLWLRQ

/'�W\SH 5LJKWZDUG�DW�
ORZHU�SRVLWLRQ

5'�W\SH

�2SWLRQ

2ULJLQ�SRVLWLRQ�FKDQJH��2ULJLQ�SRLQW�SRVLWLRQ�FDQ�EH�FKDQJHG�

)UDPH��+ROH�WR�VHFXUH�WKH�IUDPH�FDQ�EH�VHOHFWHG���6SRW�IDFLQJ�WDSSLQJ�

*UHDVH�W\SH��&OHDQ�JUHDVH�FDQ�EH�VHOHFWHG�

�6WURNH 6HOHFW�WKH�VWURNH�IRU�WKH�URERW�PRYHPHQW�UDQJH�

�&DEOH�OHQJWK

6HOHFW�WKH�URERW�FDEOH�OHQJWK�WR�XVH�IRU�FRQQHFWLQJ�WKH�URERW�WR�WKH�FRQWUROOHU�

�/� �����P�� �6WDQGDUG�
�/� ���P
��/� ����P
�.� ���P�� �<RX�FDQ�VHOHFW�D��P�FDEOH�RQO\�ZKHQ�\RX�XVH�7�/�7�/��)OH[LEOH�FDEOH�
�.� �����P�� )OH[LEOH�FDEOH�
�.� ���P�� )OH[LEOH�FDEOH�
��.�����P�� �)OH[LEOH�FDEOH�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU (5&' u ���

T4L

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ��

&RQWUROOHU 2SHUDWLRQ�PHWKRG

(5&'

3XOVH�WUDLQ�FRQWURO���
3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
� �NJ ��� �� ���

/H
DG

��
� �NJ ��� �� ���

/H
DG

��
�

���NJ ��� ���
���NJ ��� �� �� ���NJ �� � ���

/
HD
G
�� �NJ ��� �� ���

/
HD
G
�� �NJ ��� �� ���

/
HD
G
��

���NJ �� ��
�NJ ��� �� �� �NJ �� � ���

/
H
DG

�� �NJ ���� �� ���

/
H
DG

�� �NJ ��� �� ����

/
H
DG

�� �NJ �� ��

�NJ ��� �� �� �NJ �� � ��� ���NJ � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ��

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф�
%DOO�VFUHZ�OHDG��PP� �� � �

0D[LPXP�VSHHG��PP�VHF� ��� ��� ���

0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO ��� � �

9HUWLFDO ��� ��� ���

5DWHG�WKUXVW��1� �� �� ���

6WURNH��PP� ���WR��������PP�SLWFK�

2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����

9HUWLFDO 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ��������

/LQHDU�JXLGH�W\SH ��URZV�RI�JRWKLF�DUFK�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

T4L

(3
8.

5)

L

53

(44)

(2)

35

L+35 (with brakes)

(90)

Grounding terminal (M4)

(3: Screw head)

87.5

D

A

121.5

(35)

11

C
2

4
0+0

.0
5  D

ep
th

6RInstallation hole:N-(See cross-section B-B)

E M×50

122.5 (with brakes)

156.5 (with brakes)

ϕ4H7 Depth6

B

B

125.5+/-3 Effective stroke

21.5+/-2(Note 1)

(3
)

72.5+/-3Approx. 250 (Motor cable length)

160.5+/-3 (with brakes)

109.5+/-2(with brakes)

74.5+/-2(Note 1)
20+/-0.02

35

30
 (B

et
w

ee
n

kn
oc

ks
 +

/-0
.0

2)

45

2-ϕ3 H7 Depth6 

4-M4×0.7 Depth 9

When origin is 
on non-motor side

When origin is on motor side

1.
6

36
24

45

(44)

12 mm or less (Note 4)

24

1.2

4.5
8.5 ϕ4

.5ϕ8
11

 Cross-section B-B 

1RWH����The�robot�cable�is�Àexible�and�resists�bending.�See�P.614�for�details�on�robot�cable.

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�

EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� 7KH�XQGHU�KHDG�OHQJWK�RI�WKH�KH[�VRFNHW�KHDG�EROW��0�é�����WR�EH�XVHG�IRU�WKH�LQVWDOODWLRQ�ZRUN�LV���PP�RU�OHVV�
1RWH���� ([WHUQDO�YLHZ�RI�7�/+�LV�LGHQWLFDO�WR�7�/�

(IIHFWLYH�VWURNH �� ��� ��� ��� ��� ��� ��� ���
/ ��� ��� ��� ��� ��� ��� ��� ���
$ ����� ����� ����� ����� ����� ����� ����� �����
& �� ��� ��� ��� ��� ��� ��� ���
' � � � � ����� ����� ����� �����
( � � � � � � ��� ���
0 � � � � � � � �
1 � � � �� � � � �

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ���
0D[LPXP�

VSHHG�IRU�HDFK
VWURNH��

�PP�VHF�

/HDG��� ���
/HDG�� ���

/HDG�� ���

7�/ (5&'
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH�� &RQWUROOHU I/O�connector�speci¿cation

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ���WR����
���PP�SLWFK�

�.���P CN1:�I/O�Àat�cable�1m�(Standard)
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �.�����P &1���7ZLVWHG�SDLU�FDEOH��P��SXOVH�WUDLQ�IXQFWLRQ�
����PP �.���P
����PP ��.����P

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

�����&RQWUROOHU����9��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

T4LH

T4LH

(3
8.

5)

L

53

(44)

(2)

35

L+35 (with brakes)

(90)

Grounding terminal (M4)

(3: Screw head)

87.5

D

A

121.5

(35)

11

C
2

4
0+0

.0
5  D

ep
th

6RInstallation hole:N-(See cross-section B-B)

E M×50

122.5 (with brakes)

156.5 (with brakes)

ϕ4H7 Depth6

B

B

125.5+/-3 Effective stroke

21.5+/-2(Note 1)

(3
)

72.5+/-3Approx. 250 (Motor cable length)

160.5+/-3 (with brakes)

109.5+/-2(with brakes)

74.5+/-2(Note 1)
20+/-0.02

35

30
 (B

et
w

ee
n

kn
oc

ks
 +

/-0
.0

2)

45

2-ϕ3 H7 Depth6 

4-M4×0.7 Depth 9

When origin is 
on non-motor side

When origin is on motor side

1.
6

36
24

45

(44)

12 mm or less (Note 4)

24

1.2

4.5
8.5 ϕ4

.5ϕ8
11

 Cross-section B-B 

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ��

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;��� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
� �NJ ���� ��� ����

/H
DG

��
� �NJ ���� ��� ����

/H
DG

��
�

���NJ ���� ����
���NJ ���� ��� ��� ���NJ ��� ��� ����

/
HD
G
�� �NJ ���� ��� ����

/
HD
G
�� �NJ ���� ��� ����

/
HD
G
��

���NJ ��� ���
�NJ ���� ��� ��� �NJ ��� ��� ����

/
H
DG

�� �NJ ����� ��� ����

/
H
DG

�� �NJ ���� ��� ����

/
H
DG

�� �NJ �� ��

�NJ ���� ��� ��� �NJ ��� ��� ���� ���NJ � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ��

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф�
%DOO�VFUHZ�OHDG��PP� �� � �

0D[LPXP�VSHHG��PP�VHF� ��� ��� ���

0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO ��� � �

9HUWLFDO ��� ��� ���

5DWHG�WKUXVW��1� �� �� ���

6WURNH��PP� ���WR��������PP�SLWFK�

2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����

9HUWLFDO 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�JRWKLF�DUFK�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�

EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� 7KH�XQGHU�KHDG�OHQJWK�RI�WKH�KH[�VRFNHW�KHDG�EROW��0�é�����WR�EH�XVHG�IRU�WKH�LQVWDOODWLRQ�ZRUN�LV���PP�RU�OHVV�
1RWH���� ([WHUQDO�YLHZ�RI�7�/+�LV�LGHQWLFDO�WR�7�/�

(IIHFWLYH�VWURNH �� ��� ��� ��� ��� ��� ��� ���
/ ��� ��� ��� ��� ��� ��� ��� ���

$ ����� ����� ����� ����� ����� ����� ����� �����

& �� ��� ��� ��� ��� ��� ��� ���

' � � � � ����� ����� ����� �����
( � � � � � � ��� ���

0 � � � � � � � �

1 � � � �� � � � ��

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�
VSHHG�IRU�HDFK

VWURNH��
�PP�VHF�

/HDG��� ���

/HDG�� ���

/HDG�� ���

7�/+
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK1RWH��

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ���WR�����
���PP�SLWFK�

�/�����P
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
����PP ��/����P
����PP �.��.���.

�)OH[LEOH�FDEOH�

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

�����&RQWUROOHU�����9������9��

5'9�; � ��
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\

���$&���9 �������:�RU�OHVV

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU (5&' u ���

T5L

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ��

&RQWUROOHU 2SHUDWLRQ�PHWKRG

(5&'

3XOVH�WUDLQ�FRQWURO���
3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
� �NJ ���� ���� ����

/H
DG

��
� �NJ ���� ���� ����

/H
DG

��
�

���NJ ���� ����
�NJ ���� ���� ���� �NJ ���� ��� ����

/
HD
G�
�� �NJ ����� ���� ����

/
HD
G�
�� �NJ ���� ���� �����

/
HD
G
��

���NJ ���� ����
�NJ ���� ��� ���� �NJ ���� ��� ����

/
H
DG

�� �NJ ����� ���� ����

/
H
DG

�� �NJ ���� ��� ����

�NJ ���� ��� ��� �NJ ��� �� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ��
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO � � �
9HUWLFDO � ��� ���

5DWHG�WKUXVW��1� �� �� ��
6WURNH��PP� ���WR��������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH������
9HUWLFDO 6WURNH������

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :��é+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ��������
/LQHDU�JXLGH�W\SH ��URZV�RI�JRWKLF�DUFK�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH�

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�

EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV�
�FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�
SURJUDP�E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�
WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

T5L

(4
5.

5)

L

4250

(55)

(2)

(96)

L+35 (with brakes)

Grounding terminal (M4)

(3: Screw head)

20.5+/-2(Note 1)

(3
)

Approx. 250 (Motor cable length)

108+/-2 (with brakes) (Note 1)

73+/-2(Note 1)

25+/-0.02

40

35
 (B

et
w

ee
n

kn
oc

ks
 +

/-0
.0

2 )

127+/-3 Effective stroke 74.5+/-3

55

162+/-3 (with brakes)
4-M4×0.7 Depth9 
2-ϕ3 H7 Depth6 

When origin is on motor side When origin is 
on non-motor side

2

87 (34.5)

D

16

135.5 4
0+0

.0
2

D
ep

th
6

ϕ4H7 Depth6

A
M×50

R
C

170.5 (with brakes)

122 (with brakes)

Installation hole:N-(See cross-section B-B)B

B

52
1.

6

41
29

(51)

16

15 mm or less (Note 4)

30

1

4.5
9

ϕ8

ϕ4
.5

 Cross-section B-B 

1RWH����The�model�with�a�lead�of�20mm�cannot�select�speci¿cations�with�brake�(vertical�speci¿cations).
1RWH����The�robot�cable�is�Àexible�and�resists�bending.�See�P.614�for�details�on�robot�cable.

7�/ (5&'
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH�� &RQWUROOHU I/O�connector�speci¿cation

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ���WR����
���PP�SLWFK�

�.���P CN1:�I/O�Àat�cable�1m�(Standard)
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �.�����P &1���7ZLVWHG�SDLU�FDEOH��P��SXOVH�WUDLQ�IXQFWLRQ�
������PP �.���P
����PP ��.����P

(IIHFWLYH�VWURNH �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
/ ��������������������������������������������������������������������������� ������
$ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
& �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
' � � � � � � ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
0 � � � � � � � � � � � � � � � �
1 � � � �� �� �� � � �� �� �� �� �� �� �

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
0D[LPXP�
VSHHG�IRU�
HDFK

VWURNH�1RWH���
�PP�VHF�

/HDG��� ���� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ � ��� ��� ��� ���

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�
HQGV�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�

PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�
WKH�WDEOH�

1RWH���� 7KH�XQGHU�KHDG�OHQJWK�RI�WKH�KH[�VRFNHW�KHDG�EROW��0�é�����WR�
EH�XVHG�IRU�WKH�LQVWDOODWLRQ�ZRUN�LV���PP�RU�OHVV�

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�
VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG����
,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�
WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DW�WKH�OHIW�

1RWH���� ([WHUQDO�YLHZ�RI�7�/+�LV�LGHQWLFDO�WR�7�/�

� +LJK�OHDG��/HDG��� � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

�����&RQWUROOHU����9��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

T5LH

T5LH

(4
5.

5)

L

4250

(55)

(2)

(96)

L+35 (with brakes)

Grounding terminal (M4)

(3: Screw head)

20.5+/-2(Note 1)

(3
)

Approx. 250 (Motor cable length)

108+/-2 (with brakes) (Note 1)

73+/-2(Note 1)

25+/-0.02

40

35
 (B

et
w

ee
n

kn
oc

ks
 +

/-0
.0

2)

127+/-3 Effective stroke 74.5+/-3

55

162+/-3 (with brakes)
4-M4×0.7 Depth9 
2-ϕ3 H7 Depth6 

When origin is on motor side When origin is 
on non-motor side

2

87 (34.5)

D

16

135.5 4
0+0

.0
2

D
ep

th
6

ϕ4H7 Depth6

A
M×50

R
C

170.5 (with brakes)

122 (with brakes)

Installation hole:N-(See cross-section B-B)B

B

52
1.

6

41
29

(51)

16

15 mm or less (Note 4)

30

1

4.5
9

ϕ8

ϕ4
.5

 Cross-section B-B 

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ��

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;��� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
� �NJ ���� ���� ����

/H
DG

��
� �NJ ���� ���� ����

/H
DG

��
�

���NJ ���� ����
�NJ ���� ���� ���� �NJ ���� ��� ����

/
HD
G�
�� �NJ ���� ���� ����

/
HD
G�
�� �NJ ���� ���� ����

/
HD
G
��

���NJ ���� ����
�NJ ���� ��� ���� �NJ ���� ��� ����

/
H
DG

�� �NJ ����� ���� ����

/
H
DG

�� �NJ ���� ��� ����

�NJ ���� ��� ��� �NJ ��� ��� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ��
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO � � �
9HUWLFDO � ��� ���

5DWHG�WKUXVW��1� �� �� ��
6WURNH��PP� ���WR��������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH������
9HUWLFDO 6WURNH������

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :��é+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�JRWKLF�DUFK�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH�

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�

EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV�
�FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�
SURJUDP�E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�
WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

1RWH����The�model�with�a�lead�of�20mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3���

7�/+
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK1RWH��

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ���WR����
���PP�SLWFK�

�/�����P
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
������PP ��/����P
����PP �.��.���.

�)OH[LEOH�FDEOH�

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

(IIHFWLYH�VWURNH �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
/ ��������������������������������������������������������������������������� ������
$ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
& �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
' � � � � � � ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
0 � � � � � � � � � � � � � � � �
1 � � � �� �� �� � � �� �� �� �� ��

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�
VSHHG�IRU�HDFK
VWURNH�1RWH���
�PP�VHF�

/HDG��� ���� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ � ��� ��� ��� ���

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�
HQGV�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�

PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�
LQ�WKH�WDEOH�

1RWH���� 7KH�XQGHU�KHDG�OHQJWK�RI�WKH�KH[�VRFNHW�KHDG�EROW��0�é�����
WR�EH�XVHG�IRU�WKH�LQVWDOODWLRQ�ZRUN�LV���PP�RU�OHVV�

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�
VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG����
,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�
UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DW�WKH�OHIW�

1RWH���� ([WHUQDO�YLHZ�RI�7�/+�LV�LGHQWLFDO�WR�7�/�

� +LJK�OHDG��/HDG��� � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

�����&RQWUROOHU�����9������9��

5'9�; � ��
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\

���$&���9 �������:�RU�OHVV

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

T6L

T6L

(60)

L

44
(4

7.
5)53

(2)

(116)

L+35 (with brakes)

Grounding terminal (M4)

(3: Screw head)

113.5 40 A (49)
D

23

Installation hole:N-(See cross-section B-B)

4
0

+
0.

05
 D

ep
th

6

168

M×50

R 2
C

ϕ4H7 Depth6

148.5 (with brakes)

203 (with brakes)

B

B

56

48

1.
6 32

(58)

(3
)

Approx. 250 (Motor cable length)

92.5+/-2(Note 1)

127.5+/-2(with brakes)(Note 1)

27+/-2(Note 1)30+/-0.02
45

156.5+/-3 Effective stroke 91+/-3

40
 (B

et
w

ee
n

kn
oc

ks
+/

-0
.0

2)

65

191.5+/-3

2-ϕ3H7  Depth6 

When origin is on motor side When origin is on 
non-motor side

15 mm or less (Note 4)
0.8

4223
ϕ

8

ϕ
4.

5

4.5
9.5

 Cross-section B-B 

4-M5×0.8 Depth11

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ��

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/
H
D
G
��
� �NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ���

�NJ �� �� �� �NJ �� �� �� �NJ ��� ���

��NJ �� � �� ��NJ �� � �� �NJ �� ��

/
H
D
G
��
� �NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� �� ���

/
H
D
G
�� �NJ ��� ���

�NJ ��� �� ��� �NJ �� �� ��� �NJ �� ��

��NJ ��� �� �� ��NJ �� � ��� �NJ �� ��

/
H
D
G
�� �NJ ��� �� ���

/
H
D
G
�� �NJ ��� �� ���

��NJ ��� �� ��� ��NJ �� � ���

��NJ ��� � �� ��NJ � � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ��
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� ��
9HUWLFDO � � �

5DWHG�WKUXVW��1� �� �� ���
6WURNH��PP� ���WR��������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH������
9HUWLFDO 6WURNH������

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :��é+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�JRWKLF�DUFK�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH�

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�

EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV�
�FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�
SURJUDP�E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�
WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

1RWH����The�model�with�a�lead�of�20mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

7�/
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK1RWH��

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ���WR����
���PP�SLWFK�

�/�����P
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
������PP ��/����P
����PP �.��.���.

�)OH[LEOH�FDEOH�

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

� +LJK�OHDG��/HDG��� � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�
VWRSSHUV�DW�ERWK�HQGV�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�

EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�
PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�

1RWH���� 7KH�XQGHU�KHDG�OHQJWK�RI�WKH�KH[�VRFNHW�KHDG�
EROW��0�é�����WR�EH�XVHG�IRU�WKH�LQVWDOODWLRQ�ZRUN�
LV���PP�RU�OHVV�

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��
UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�
RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG����
,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�
SURJUDP�E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�
VKRZQ�LQ�WKH�WDEOH�DW�WKH�OHIW�

(IIHFWLYH�VWURNH �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
/ ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ������
$ �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
& �� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

' � � � � � � ��� ��� ��� ��� ��� ��� ��� ��� ���

0 � � � � � � � � � � � � � � � �

1 � � �� �� �� �� � �� �� �� �� �� �� �� �� ��

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�
VSHHG�IRU�HDFK
VWURNH�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���
/HDG��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ���
6SHHG�VHWWLQJ � ��� ��� ��� ���

�����&RQWUROOHU�����9������9��

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

T9

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH��5HJHQHUDWLYH�XQLW�LV�UHTXLUHG�
ZKHQ�WKH�PRGHOV�XVHG�YHUWLFDOO\�
DQG�ZLWK����PP�RU�ODUJHU�VWURNH�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
�

�NJ ��� ��� ���
/H

DG
��
�

�NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� ��� ��� ��NJ �� �� ��� �NJ ���� ����

/
H
D
G
��
� �NJ ���� ��� ���

/
H
D
G
��
� �NJ ��� ��� ���� �NJ ��� ���

��NJ ��� ��� ��� ��NJ �� �� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� �� �� ��NJ � � �� �NJ ��� ���

/
H
D
G
��
� ��NJ ��� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ��� ��NJ ��� ���

��NJ ��� �� �� ��NJ �� � ��

/
H
D
G
�� ��NJ ��� ���

��NJ ��� �� �� ��NJ � � ��� ��NJ ��� ���

/
H
D
G
�� ��NJ ��� �� ��

/
H
D
G
�� ��NJ ��� ��� ���� ��NJ �� ��

��NJ ��� �� �� ��NJ �� � �

��NJ ��� �� �� ��NJ � � ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ��
9HUWLFDO ± � �� �

5DWHG�WKUXVW��1� �� �� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�DYDLODEOH�RQO\�IRU�KLJK�OHDG�
�/HDG�������6SHFLDO�RUGHU�LWHP�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

7�
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\�1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

�/�����P�
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH�1RWH�� *&��&OHDQ �/���P
������PP ��/����P
������PP /HDG����

����WR������
���PP�SLWFK�

�.��.���.�

�)OH[LEOH�FDEOH�����PP

7�
Approx. 250 (Motor cable length) 165+/-3 (Note 2): When origin is on motor side

(165): When origin  is on non-motor side
Effective stroke

115+/-1 (Note 1) 2-ϕ6H7 Depth8
4-M6 x 1.0 Depth18

90
60

(94): When origin is on motor side
94+/-3 (Note 3): When origin  is on non-motor side

44+/-1
(Note 4)

Approx. 250 195+/-3: When origin is on motor side
(195): When origin  is on non-motor side

145+/-1 (with brakes) (Note 1)

98

87.7
83.7
43

23

13

Grounding terminal

17
.5

2.
5

20

94

82
 (B

et
w

ee
n 

kn
oc

ks
 +

/-0
.0

2 )

4-M5 x 0.8 Depth4
(The same position on the opposite surface at two (2) locations)

50 20

L30 (with brakes)

95
.5

10

N-M8 x 1.25
B

22

13

B (Note 5) 60
165 60 x (N-1) A ϕ11

195 (with brakes)

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH��/HDG���Â��Â��

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����If�selecting�5mm�lead�speci¿cations�then�the�origin�point�cannot�be�changed�to�the�
QRQ�PRWRU�VLGH�

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQVXOW�XV�IRU�GHOLYHU\�WLPH�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 167.5+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 94+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 41.5+/-1�when�the�high�lead�speci¿cation�(Lead�30)�is�used.

1RWH���� :KHQ�LQVWDOOLQJ�WKH�XQLW��ZDVKHUV��HWF���FDQQRW�EH�XVHG�LQ�WKH�ϕ���FRXQWHU�ERUH�KROH�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5��
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�

VKRZQ�LQ�WKH�WDEOH�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����1RWH������1RWH������1RWH������1RWH��

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

1 � � � � � � � �� �� �� �� �� �� �� �� �� ��

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���

/HDG��� ���� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� �

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQWDFW�XV�IRU�VSHHG�VHWWLQJ�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

T9H

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���:KHQ�XVLQJ�WKH�XQLW�YHUWLFDOO\��D�
UHJHQHUDWLRQ�XQLW�LV�UHTXLUHG�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
�

��NJ ��� ��� ���

/H
DG

��
�

��NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� ��� �� ��NJ �� � ��� �NJ ��� ���

/
H
D
G
��
� ��NJ ��� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ��� �NJ ��� ���

��NJ ��� ��� ��� ��NJ �� � ���

/
H
D
G
��
� ��NJ ��� ���

��NJ ��� �� �� ��NJ � � � ��NJ ��� ���

/
H
D
G
��
� ��NJ ��� �� ��

/
H
D
G
��
� ��NJ �� � ��� ��NJ �� ��

��NJ ��� �� �� ��NJ �� � ���

/
H
D
G
�� ��NJ ��� ���

��NJ ��� �� �� ��NJ � � ��� ��NJ �� ��

/
H
D
G
�� ��NJ ��� �� ��

/
H
D
G
�� ��NJ �� � �� ��NJ �� ��

��NJ ��� �� �� ��NJ �� � ���

���NJ ��� �� �� ��NJ � � ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ���
9HUWLFDO ± � �� ��

5DWHG�WKUXVW��1� ��� ��� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�DYDLODEOH�RQO\�IRU�KLJK�OHDG�
�/HDG�������6SHFLDO�RUGHU�LWHP�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

7�+
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\�1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

�/����P�
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH�1RWH�� *&��&OHDQ �/���P
������PP ��/����P
������PP /HDG����

����WR������
���PP�SLWFK�

�.��.���.
�)OH[LEOH�FDEOH�����PP

7�+

Effective stroke

129+/-1 (Note 1) 90
60

Approx. 250 (Motor cable length)

159+/-1 (with brakes) (Note 1)

 209+/-3 (with brakes): When origin is on motor side
(209): When origin  is on non-motor side

30 (with brakes) L

95
.5

50

10

20

209 (with brakes)

60
179 60 x (N-1) A

87.7
83.7

23
43

Grounding terminal

98

13

17
.5

2.
5

20

94

B
N-M8 x 1.25

2213

179+/-3 (Note 2): When origin is on motor side
(179): When origin  is on non-motor side

(94): When origin is on motor side
94+/-3 (Note 3): When origin  is on non-motor side

2-ϕ6H7 Depth8
4-M6 x 1.0 Depth18

44+/-1
(Note 4)

Approx. 250

82
 (B

et
we

en
 k

no
ck

s 
+/

-0
.0

2 )

4-M5 x 0.8 Depth4
(The same position on the opposite surface at 2 locations)

ϕ11
B (Note 5)

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH��/HDG���Â��

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����If�selecting�10mm·5mm�lead�speci¿cations�then�the�origin�point�cannot�be�changed�
WR�WKH�QRQ�PRWRU�VLGH�

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����: 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����: &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������: 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQVXOW�XV�IRU�GHOLYHU\�WLPH�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 181.5+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 94+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 41.5+/-1�when�the�high�lead�speci¿cation�(Lead�30)�is�used.

1RWH���� :KHQ�LQVWDOOLQJ�WKH�XQLW��ZDVKHUV��HWF���FDQQRW�EH�XVHG�LQ�WKH�ϕ���FRXQWHU�ERUH�KROH�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5��
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�

VKRZQ�LQ�WKH�WDEOH�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����1RWH�� ����1RWH�� ����1RWH�� ����1RWH��

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

1 � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���

/HDG��� ���� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� �

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQWDFW�XV�IRU�VSHHG�VHWWLQJ�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F8

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ���

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� ��
9HUWLFDO ± � �

5DWHG�WKUXVW��1� �� ��� ���
6WURNH��PP� ����WR��������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)�

(b
et

we
en

kn
oc

ks
 +

/-0
.0

2 )

7080

Approx. 240 (Motor cable length)

Approx. 210 (Motor cable length)

193+/-3: When origin is on motor side
(193): When origin is on non-motor side

Effective stroke

50

30 +/-0.02148+/-1 (Note 1)

4-M6 x 1.0 Depth12

223+/-3 (With brake): When origin is on motor side
(223): When origin is on non-motor side

178+/-1 (With brake) (Note 1)

2-ϕ5H7 Depth10

93+/-3: When origin is on non-motor side
(93): When origin is on motor side

48+/-1
(Note 1)

80

60

65

Grounding terminal (M4)

34

F
78

L

L + 30 (With brake)

63
.5

Greasing hole

168 50 50

100

40

A x 100 B (68)

198 (With brake)

10
H

7
(N

ot
e 

4)

R

145
175 (With brake)

2D

E

E

Cross-section E-E

ϕ5
.5

ϕ9
.5

5

F: Detail of T-groove

Note Recommended plate nut: 
M3 (    6 * t 1.6)

3.
5

6.
4

1.5 2
5

(Note 4)
ϕ10H7 Plate thickness 10

C-ϕ5.5 See cross-section E-E.

Use M5 x 0.8 hex socket
head bolt with length
(under head) of 16mm or more.

)�
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\��1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ����WR�����
���PP�SLWFK�

�/�����P
������PP %.��%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
������PP ��/����P
����PP �.��.���.

�)OH[LEOH�FDEOH�

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

� +LJK�OHDG��/HDG���

1RWH����The�model�with�a�lead�of�20mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/
H
D
G
��
� �NJ ��� �� ���

/
H
D
G
��
� �NJ ��� �� ���

/
H
D
G
��
�

�NJ ��� ���

��NJ ��� �� �� ��NJ �� �� �� �NJ ��� ���

��NJ �� �� �� ��NJ �� �� �� �NJ ��� ���

/
H
D
G
��
�

�NJ ��� �� ���

/
H
D
G
��
�

�NJ ��� �� ��� �NJ �� ��

��NJ ��� �� �� ��NJ �� �� ���

/
H
D
G
��

�NJ ��� ���

��NJ ��� �� �� ��NJ �� �� ��� �NJ ��� ���

��NJ ��� �� �� ��NJ �� � �� �NJ �� ��

/
H
D
G
��

��NJ ��� �� ���

/
H
D
G
��

��NJ �� �� ��� �NJ �� ��

��NJ ��� �� �� ��NJ �� � ��

��NJ ��� � � ��NJ � � ��

��NJ ��� � � ��NJ � � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH��� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�
ERG\�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :KHQ�XVLQJ�WKLV�ϕ���NQRFN�SLQ�KROH�WR�SRVLWLRQ�WKH�URERW�ERG\��

WKH�NQRFNSLQ�PXVW�QRW�SURWUXGH�PRUH�WKDQ���PP�LQVLGH�WKH�URERW�
ERG\�

1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�
PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�
WKH�WDEOH�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ����

$ � � � � � � � � � � � � � �
% ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

& � � �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�WKH�
PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F8L

MPMR

MY

�8QLW��1ÂP�

0< 03 05

�� �� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO � �� �� ��
9HUWLFDO ± � � ��

5DWHG�WKUXVW��1� �� �� ��� ���
6WURNH��PP� ����WR���������PP�SLWFK�

2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH���� 6WURNH����

9HUWLFDO ± 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)�/

(b
et

we
en

kn
oc

ks
 +

/-0
.0

2 )

204+/-3: When origin is on motor side
(204): When origin is on non-motor side 50

30

70

4-M6 x 1.0 Depth12

160+/-1 (Note 1)

L + 30 (With brake)

80

234+/-3 (With brake): When origin is on motor side
(234): When origin is on non-motor side

190+/-1 (With brake) (Note 1)

2-ϕ5H7 Depth10

Approx. 240 (Motor cable length)

Approx. 210 (Motor cable length)

Effective stroke 88+/-3: When origin is on non-motor side
(88): When origin is on motor side

44+/-1
(Note 1)

78

L

63
.565

60

80

Grounding terminal (M4)

34

F Greasing hole

ϕ5
.5

ϕ9
.5

5

Use M5 x 0.8 hex socket
head bolt with length
(under head) of 16mm or more.

3.
5

21.5

6.
4

5
E

E

179 50 50

100

40

A x 100 B (63)

209 (With brake)

C-ϕ5.5 See cross-section E-E.

2D

10
H

7
(N

ot
e 

4)

ϕ10H7 Plate thickness 10
(Note 4)

186 (With brake)
156

R
+/-0.02

Cross-section E-E F: Detail of T-groove

Note Recommended plate nut: 
M3 (    6 * t 1.6)

)�/
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� 2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\�1R�EUDNHV 1RQH��6WDQGDUG 1RQH��6WDQGDUG ����WR������
���PP�SLWFK�

�/�����P
������PP %.�%UDNHV�SURYLGHG =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
������PP ��/����P
������PP �.��.���.

�)OH[LEOH�FDEOH�����PP

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��� �NJ ��� �� ��
/H

DG
��� �NJ �� �� ��

/H
DG

��� �NJ ��� ���
�NJ �� �� �� �NJ �� �� �� �NJ ��� ���

/
H
D
G
��
� �NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� �� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� �� �� ��NJ �� �� �� �NJ ��� ���
��NJ �� �� �� ��NJ � � �� �NJ �� ��
��NJ �� �� �� ��NJ � � � �NJ �� ��

/
H
D
G
��
� ��NJ ��� �� ���

/
H
D
G
��
� ��NJ �� �� ���

/
H
D
G
��

�NJ ��� ���
��NJ ��� �� �� ��NJ � � �� ��NJ �� ��
��NJ �� � �� ��NJ � � � ��NJ �� ��
��NJ �� � � ��NJ � � � ��NJ �� ��

/
H
D
G
��

��NJ ��� �� ��

/
H
D
G
��

��NJ �� � ���
��NJ ��� �� �� ��NJ � � �
��NJ ��� � �� ��NJ � � �
��NJ �� � � ��NJ � � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� 1RWH�����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�
PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�

1RWH�����:KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�
XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�

1RWH�����0LQLPXP�EHQG�UDGLXV�RI�PRWRU�
FDEOH�LV�5���

1RWH�����:KHQ�XVLQJ�WKLV�ϕ���NQRFN�SLQ�
KROH�WR�SRVLWLRQ�WKH�URERW�ERG\��WKH�
NQRFNSLQ�PXVW�QRW�SURWUXGH�PRUH�
WKDQ���PP�LQVLGH�WKH�URERW�ERG\�

1RWH�����:HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��
7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�
PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�
PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�
WDEOH�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ����

$ � � � � � � � � � � � � � � � � � � �

% ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

& � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ��� ��� ��� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ��� ��� ��� ��� ���
6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ��� ��� ���

1RWH�����:KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F8L

)�/���+LJK�OHDG�W\SH��/HDG���
212+/-4: When origin is on motor side

(209.5): When origin is on non-motor side

165.5+/-1

Approx. 240 (Motor cable length)

(b
et

w
ee

n
kn

oc
ks

 +
/-0

.0
2 )

7080

63
.565

60

80

Grounding terminal (M4)

34

F

ϕ5
.5

ϕ9
.5

5

Use M5 x 0.8 hex socket
head bolt with length
(under head) of 16mm or more.

3.
5

21.5

6.
4

5

Effective stroke

50

90.5+/-4: When origin is on non-motor side

(88): When origin is on motor side

4-M6 x 1.0 Depth12

L

2-ϕ5H7 Depth10

44+/-1

78 Greasing hole

E

187 50

100

A x 100 B (63)

C-ϕ5.5 See cross-section E-E.

2D

10
H

7
(N

ot
e 

4)

R

ϕ10H7 Plate thickness 10
(Note 4)164

50

40

E

Cross-section E-E F: Detail of T-groove

Note Recommended plate nut: 
M3 (    6 * t 1.6)

30 +/-0.02

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� 1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�
DW�ERWK�HQGV�

1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��
GR�QRW�XVH�ZDVKHUV�LQVLGH�
WKH�URERW�ERG\�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�
PRWRU�FDEOH�LV�5���

1RWH���� :KHQ�XVLQJ�WKLV�ϕ���NQRFN�
SLQ�KROH�WR�SRVLWLRQ�WKH�URERW�
ERG\��WKH�NQRFNSLQ PXVW�
QRW�SURWUXGH�PRUH�WKDQ�
��PP�LQVLGH�WKH�URERW�ERG\�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ����

$ � � � � � � � � � � � � � � � � � � �

% ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

& � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����

:HLJKW��NJ� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

0D[LPXP�VSHHG�1RWH���

�PP�VHF�

/HDG��� ���� ���� ���� ���� ���� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
O

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F8LH

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

A

CB C

B
A

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

/
H
D
G
��
� ��NJ ���� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ���

��NJ ��� ��� �� ��NJ �� �� ���

��NJ ��� �� �� ��NJ �� �� ���

/
H
D
G
��
� ��NJ ��� ��� ���

/
H
D
G
��
� ��NJ �� �� ���

��NJ ��� �� �� ��NJ �� �� ���

��NJ ��� �� �� ��NJ � � �

/
H
D
G
��

��NJ ���� ��� ���

/
H
D
G
��

��NJ �� ��� ����

��NJ ��� �� �� ��NJ �� �� ���

��NJ ��� �� �� ��NJ � � �

��NJ ��� �� �� ��NJ � � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

)�/+

SER.NO

MODEL

YAMAHA MO TOR CO,LTD  MADE IN JAPAN

MANUF UCT URED

F: Detail of T-groove

3.
5

21.5

6.
4

5

65

60
80

Grounding terminal (M4)

34

F

Cross-section E-E

5

Use M5 x 0.8 hex socket
head bolt with length
(under head) of 16mm or more.

70
 (b

et
we

en
 

kn
oc

ks
 +/

-0
.0

2 )

242+/-3: When origin is on motor side
(242): When origin is on non-motor side

Effective stroke

50

8-M6 x 1.0 Depth12

160+/-1 (Note 1) 44+/-1
(Note 1)

80

2-ϕ5H7 Depth10

120

126+/-3: When origin is on non-motor side

(126): When origin is on motor side
Approx. 240 (Motor cable length)

154
L

2-Greasing hole

63
.5

192 50 50

100

40

A x 100 B (76)

2

10
H

7
(N

ot
e 

4)

R

D
ϕ10H7 Plate thickness 10
(Note 4)169

E

E

30 +/-0.02

Note Recommended plate nut: 
M3 (    6 * t 1.6)

ϕ9
.5

ϕ5
.5 C-ϕ5.5 See cross-section E-E.

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ� +RUL]RQWDO �� �� ��

5DWHG�WKUXVW��1� �� ��� ���
6WURNH��PP� ����WR���������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP� +RUL]RQWDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

)�/+
0RGHO /HDG�

GHVLJQDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1RQH��6WDQGDUG 1RQH��6WDQGDUG ����WR������
���PP�SLWFK�

�/����P
������PP =��1RQ�PRWRU�VLGH *&��&OHDQ �/���P
������PP ��/����P
����PP �.��.���.

�)OH[LEOH�FDEOH�

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�
FDEOH���
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� 1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�
DW�ERWK�HQGV�

1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��
GR�QRW�XVH�ZDVKHUV�LQVLGH�
WKH�URERW�ERG\�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�
PRWRU�FDEOH�LV�5���

1RWH���� :KHQ�XVLQJ�WKLV�ϕ���NQRFN�
SLQ�KROH�WR�SRVLWLRQ�WKH�URERW�
ERG\��WKH�NQRFNSLQ�PXVW�QRW�
SURWUXGH�PRUH�WKDQ���PP�
LQVLGH�WKH�URERW�ERG\�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ � � � � � � � � � � � � � � � � � � �

% ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

& � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ����

:HLJKW��NJ� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ��� ��� ��� ��� ��� ��� ��� ���

/HDG��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

/HDG�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ��� ��� ��� ��

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F10

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���5HJHQHUDWLYH�XQLW�LV�UHTXLUHG�
ZKHQ�WKH�PRGHOV�XVHG�YHUWLFDOO\�
DQG�ZLWK����PP�RU�ODUJHU�VWURNH�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
�

�NJ ��� ��� ���
/H

DG
��
�

�NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� �� �� ��NJ �� � ��� �NJ ��� ���

/
H
D
G
��
� �NJ ��� ��� ���

/
H
D
G
��
� �NJ ��� ��� ��� �NJ ��� ���

��NJ ��� ��� ��� ��NJ �� �� ���

/
H
D
G
��
� �NJ ��� ���

��NJ ��� �� �� ��NJ �� � ��� �NJ ��� ���

/
H
D
G
��
� ��NJ ��� �� ��

/
H
D
G
��
� ��NJ ��� �� ��� ��NJ ��� ���

��NJ ��� �� �� ��NJ �� � ��

/
H
D
G
�� ��NJ ��� ���

��NJ ��� � � ��NJ � � � ��NJ �� ��

/
H
D
G
�� ��NJ ��� �� ��

/
H
D
G
�� ��NJ ��� �� ���� ��NJ �� ��

��NJ � � � ��NJ �� � ��

��NJ � � � ��NJ � � �

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ��
9HUWLFDO ± � �� ��

5DWHG�WKUXVW��1� �� �� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH��� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH��� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�DYDLODEOH�RQO\�IRU�KLJK�OHDG�
�/HDG�������6SHFLDO�RUGHU�LWHP�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH

OHQJWK�1RWH��1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

������PP 1R�HQWU\��
6WDQGDUG��6�

=��1RQ�PRWRU�VLGH�1RWH�� *&��&OHDQ �/�����P�
������PP %.��

%UDNHV�
SURYLGHG

�/���P
������PP 8�)URP�WKH�WRS /HDG����

����WR������
���PP�SLWFK�

��/����P
����PP �.��.���.�

�)OH[LEOH�FDEOH�

Z

)��

70
86

165+/-3 (Note 2):
When origin is on motor side
(165): When origin  is

on non-motor side

Effective stroke (95): When origin is on motor side
95+/-3 (Note 3): When origin  is on non-motor side

117+/-1 (Note 1) 47+/-1
(Note 4)4-M5 x 0.8 Depth1297

Approx. 250 (Motor cable length)

147+/-1 (with brake) (Note 1)127 (with brake)

195+/-3 (with brake): When origin is on motor side
(195): When origin  is on non-motor side

Approx. 250

10
0 

(B
et

we
en

 k
no

ck
s 

+/
-0

.0
2 )

14

18
.5

18
.5

12.5

17 17

109

(The same position on the opposite surface at 2 locations) 10

1850
4-M5 x 0.8 Depth9

L

69
.5

30 (with brake)

195 (with brake)

205 (with brake)

N-M5 x 0.8 Depth10

80

200
165 M x 200 A 45

175
200

M x 200 A 35

B (Note 5)

26

110
6871

102

B (S=1/1)

ϕ9.5 (Note 5)

5

N-ϕ5.5

Direction of robot cable connection
2-ϕ5H7 Depth15

U S

2-ϕ10H7 Plate thickness 10 (Note 7)

K+/-0.02

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH��/HDG���Â��Â��

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����If�selecting�5mm�lead�speci¿cations�then�the�origin�point�cannot�be�changed�to�the�non-motor�side.
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQVXOW�XV�IRU�GHOLYHU\�WLPH�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 167.5+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 95+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 44.5+/-1�when�the�high�lead�speci¿cation�(Lead�30)�is�used.

1RWH���� :KHQ�LQVWDOOLQJ�WKH�XQLW��ZDVKHUV��HWF���FDQQRW�EH�XVHG�LQ�WKH�ϕ����FRXQWHU�ERUH�KROH�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH��� :KHQ�XVLQJ�WKLV�ϕ���NQRFN�SLQ�KROH�WR�SRVLWLRQ�WKH�URERW�ERG\��WKH�NQRFNSLQ�PXVW�QRW�SURWUXGH�PRUH�WKDQ���PP�LQVLGH�WKH�URERW�ERG\�
1RWH����:HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����1RWH��� ����1RWH��� ����1RWH��� ����1RWH���

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
0 � � � � � � � � � � � � � � � � � � � � � � �
1 � � � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���
/HDG��� ���� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ���
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�WKH�

PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�
1RWH����6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQWDFW�XV�IRU�VSHHG�VHWWLQJ�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F10H

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����
5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���:KHQ�XVLQJ�WKH�XQLW�YHUWLFDOO\��D�
UHJHQHUDWLRQ�XQLW�LV�UHTXLUHG�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
� ��NJ ���� ��� ���

/H
DG

��
� ��NJ ��� ��� ����

/
H
D
G
��
� �NJ ���� ����

��NJ ��� ��� �� ��NJ �� ��� ��� �NJ ���� ����

/
H
D
G
��
� ��NJ ���� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ���� �NJ ��� ���

��NJ ��� ��� ��� ��NJ �� ��� ���

/
H
D
G
��
� ��NJ ��� ���

��NJ ��� ��� �� ��NJ � � � ��NJ ��� ���

/
H
D
G
��
� ��NJ ���� ��� ��

/
H
D
G
��
� ��NJ ��� ��� ���� ��NJ ��� ���

��NJ ���� ��� �� ��NJ �� ��� ����

/
H
D
G
�� ��NJ ��� ���

��NJ ��� �� �� ��NJ �� ��� ���� ��NJ ��� ���

/
H
D
G
�� ��NJ ���� ��� ��

/
H
D
G
�� ��NJ ��� ��� ���� ��NJ ��� ���

��NJ ���� �� �� ��NJ �� ��� ����

���NJ ���� �� �� ��NJ �� ��� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH���6HUYLFH�OLIH�LV�FDOFXODWHG�IRU����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� ��������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ���
9HUWLFDO ± � �� ��

5DWHG�WKUXVW��1� ��� ��� ��� ���
6WURNH��PP� ����WR�����
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ��
:KHQ�WKH�PRYHPHQW�GLVWDQFH�LV�VKRUW��WKH�VSHHG�PD\�QRW�
UHDFK�WKH�PD[LPXP�VSHHG�DFFRUGLQJ�WR�WKH�SD\ORDG�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��+
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH

OHQJWK�1RWH��1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

������PP 1R�HQWU\��
6WDQGDUG��6�

=��1RQ�PRWRU�VLGH�1RWH�� *&��&OHDQ �/�����P�
������PP %.��

%UDNHV�
SURYLGHG

�/���P
������PP 8�)URP�WKH�WRS /HDG����

����WR������
���PP�SLWFK�

��/����P
����PP �.��.���.�

�)OH[LEOH�FDEOH�

Z

)��+

(R
)

Approx. 250 (Motor cable length) 218+/-3: When origin is on motor side
(218) :  When origin  is on non-motor side

(137) : When origin is on motor side
137+/-3: 

When origin  is on non-motor side
135+/-1 (Note 1) 54+/-1 (Note 1)

115

156
140

70 +/-0.02

3-ϕ5H7 Depth15
6-M5x0.8  Depth12

Effective stroke

145 (with brake)
165+/-1 (with brake) (Note 1)

248+/-3 (with brake): When origin is on motor side248+/-3 (with brake): When origin is on motor side
(248): When origin  is on non-motor side

120
50

6-M5x0.8  Depth 9
(Same position on opposite side)

18

10

102

71 68

110

26

200

280 (with brake)

100

Mx200 A (55)

B (Note 2)

ϕ10H7 Plate thickness 10 (Note 4)

195 (with brake)

K165
250

80

N-M5x0.8 
Depth 10

290 (with brake)

100 200
Mx200 A (45)260

2

ϕ9.5 (Note 2)

5

B

N-ϕ5.5

109

12.514

1717

18
.5

18
.5

69
.5

30 (with brake) L

10        Plate thickness 10 (Note 4)
+ 0.02
 0

Direction of robot cable connection

10
0 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

Approx. 250

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH��/HDG���Â��Â��

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����If�selecting�5mm�lead�speci¿cations�then�the�origin�point�cannot�be�changed�to�the�
QRQ�PRWRU�VLGH�

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����: 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����: &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������: 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

PB:�Pro¿bus

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� 1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�
PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�

1RWH���� :KHQ�LQVWDOOLQJ�WKH�XQLW��ZDVKHUV��
HWF���FDQQRW�EH�XVHG�LQ�WKH�ϕ����
FRXQWHU�ERUH�KROH�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�
LV�5���

1RWH����:KHQ�XVLQJ�WKLV�ϕ���NQRFN�SLQ�KROH�WR�
SRVLWLRQ�WKH�URERW�ERG\��WKH�NQRFNSLQ�
PXVW�QRW�SURWUXGH�PRUH�WKDQ���PP�
LQVLGH�WKH�URERW�ERG\�

1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�
ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�
����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�
EUDNH�VKRZQ�LQ�WKH�WDEOH�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� ��
0 � � � � � � � � � � � � � � � � � �
1 � � � � � �� �� �� �� �� �� �� �� �� �� �� �� ��
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����

:HLJKW��NJ� �1RWH�� ���� ���� ���� ���� ���� ���� ���� ���� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ���� ��� ��� ���
/HDG��� ���� ��� ��� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ��� ��� ���
6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�WKH�
PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F10H

)��+���+LJK�OHDG�W\SH��/HDG���

B

ϕ9.5 (Note 2)

5

N-ϕ5.5

102

71 68
110

26

109

1717

12.5

18
.5

18
.5

14

120
50

18

10

135+/-1 (Note 1)

115

156
140

70 +/-0.02

3-ϕ5H7 Depth15

200100
M×200 A (55)

B (Note 2)

N-M5x0.8 
Depth 10

100 200

A (45)

80

K165

250

260

220.5+/-4: When origin is on motor side
(218) : When origin  is on non-motor side

(134.5): When origin is on motor side
137+/-4: 

When origin  is on non-motor side
51.5+/-1 (Note 1)

Effective stroke

Mx200

2

6-M5x0.8 Depth12

69
.5

L

(R
)

Direction of robot cable connection

Approx. 250 (Motor cable length)

10
0 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

6-M5x0.8  Depth 9
(Same position on opposite side)

ϕ10H7 Plate thickness 10 (Note 4)

10        Plate thickness 10 (Note 4)
+ 0.02
 0

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� 1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�
PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�

1RWH���:KHQ�LQVWDOOLQJ�WKH�XQLW��ZDVKHUV��
HWF���FDQQRW�EH�XVHG�LQ�WKH�ϕ����
FRXQWHU�ERUH�KROH�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�
LV�5���

1RWH����:KHQ�XVLQJ�WKLV�ϕ���NQRFN�SLQ�KROH�WR�
SRVLWLRQ�WKH�URERW�ERG\��WKH�NQRFNSLQ�
PXVW�QRW�SURWUXGH�PRUH�WKDQ���PP�
LQVLGH�WKH�URERW�ERG\�

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� ��
0 � � � � � � � � � � � � � � � � � �
1 � � � � � �� �� �� �� �� �� �� �� �� �� �� �� ��
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����

:HLJKW��NJ� � ���� ���� ���� ���� ���� ���� ���� ���� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ���� ��� ��� ���
/HDG��� ���� ��� ��� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ��� ��� ���
6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�WKH�
PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F14 � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���5HJHQHUDWLYH�XQLW�LV�UHTXLUHG�
ZKHQ�WKH�PRGHOV�XVHG�YHUWLFDOO\�
DQG�ZLWK����PP�RU�ODUJHU�VWURNH�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
�

�NJ ���� ���� ���

/H
DG

��
�

�NJ ��� ��� ����

/
H
D
G
��
� �NJ ��� ���

��NJ ���� ��� ��� ��NJ ��� ��� ��� �NJ ���� ����

/
H
D
G
��
� �NJ ���� ���� ���

/
H
D
G
��
� �NJ ���� ��� ���� �NJ ���� ���

��NJ ���� ��� ��� ��NJ ��� ��� ���

/
H
D
G
��
� �NJ ���� ���

��NJ ���� ��� ��� ��NJ ��� ��� ��� �NJ ��� ���

/
H
D
G
��
� ��NJ ���� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ��� ��NJ ��� ���

��NJ ��� ��� ��� ��NJ ��� �� ���

/
H
D
G
�� ��NJ ��� ���

��NJ ��� ��� ��� ��NJ �� � ��� ��NJ ��� ���

/
H
D
G
�� ��NJ ���� ��� ���

/
H
D
G
�� ��NJ ��� ��� ���� ��NJ ��� ���

��NJ ���� ��� ��� ��NJ ��� �� ���

��NJ ���� ��� ��� ��NJ �� �� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ��
9HUWLFDO ± � �� ��

5DWHG�WKUXVW��1� �� �� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�DYDLODEOH�RQO\�IRU�KLJK�OHDG�
�/HDG�������6SHFLDO�RUGHU�LWHP�

1RWH��� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��

B

1.5
3.5

1.5

5.
5

8.
3

90

170+/-3 (Note 2):
When origin is on motor side
(170): When origin  is

on non-motor side

8-M6 x 1.0 Depth8
2-ϕ6H7 Depth8

11
0 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

32
70

150+/-1 (with brake) (Note 1)

120+/-1 (Note 1)

200+/-3: When origin is on motor side
(200): When origin  is on non-motor side

Approx. 250

Effective strokeApprox. 250 (Motor cable length) 85+/-3 (Note 3): When origin  is on non-motor side
(85): When origin is on motor side

35+/-1 (Note 4)

131
135

136 B

83 22
.5

(The same position on the opposite surface at 2 locations)

30 (with brake)

4-M5 x 0.8 Depth7

7577
.5

23
.5

19

50 20

L

14
17

17
20

41.562
11.5

125

200

M x 200
200

11
0

10
0

M x 200

155 (with brake)

130 (with brake)
100

N-M6 x 1.0 Depth10

K+/-0.02

C

A

C

80

105A

Use M6 x 1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(9)

(ϕ
10

H
7)

5.5
18.5

Cross-section C-C

126

156 (with brake)

Direction of robot cable extraction

U S

R

L 2-ϕ10H7 See cross-section C-C.

N-ϕ7 Depth9

� +LJK�OHDG��/HDG���

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

)��
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH

OHQJWK�1RWH��1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

������PP 1R�HQWU\��
6WDQGDUG��6�

=��1RQ�PRWRU�VLGH� *&��&OHDQ �/�����P�
������PP %.��

%UDNHV�
SURYLGHG

�/���P
������PP 8��)URP�WKH�WRS /HDG����

����WR������
���PP�SLWFK�

��/����P
����PP 5��)URP�WKH�ULJKW �.��.���.

�)OH[LEOH�FDEOH�/��)URP�WKH�OHIW

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQVXOW�XV�IRU�GHOLYHU\�WLPH�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH�����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

Note�2.��172.5+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
Note�3.��85+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.

Note�4.��32.5+/-1�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� �����1RWH�� �����1RWH�� �����1RWH�� �����1RWH��

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
0 � � � � � � � � � � � � � � � � � � � � � � �
1 � � � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� ��
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ����

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���
/HDG��� ���� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ���
1RWH�����:KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�

WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�
1RWH�����6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQWDFW�XV�IRU�VSHHG�VHWWLQJ�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F14H

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���:KHQ�XVLQJ�WKH�XQLW�YHU WLFDOO\��
D�UHJHQHUDWLRQ�XQLW�LV�UHTXLUHG�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/H
DG

��
�

��NJ ���� ���� ���
/H

DG
��
�

��NJ ��� ���� ����

/
H
D
G
��
� �NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���� �NJ ���� ����

/
H
D
G
��
� ��NJ ���� ���� ���

/
H
D
G
��
� ��NJ ��� ���� ���� �NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���

/
H
D
G
��
� ��NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ��� ��NJ ��� ���

/
H
D
G
��
� ��NJ ���� ��� ���

/
H
D
G
��
� ��NJ ��� ��� ���� ��NJ ��� ���

��NJ ���� ��� ��� ��NJ ��� ��� ���

/
H
D
G
�� ��NJ ��� ���

��NJ ���� ��� ��� ��NJ ��� �� ��� ��NJ ��� ���

/
H
D
G
�� ��NJ ���� ��� ���

/
H
D
G
�� ��NJ ��� ��� ���� ��NJ ��� ���

��NJ ���� ��� ��� ��NJ ��� �� ����

���NJ ���� ��� ��� ���NJ �� �� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� �� �
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� ���� ��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� �� ���
9HUWLFDO ± � �� ��

5DWHG�WKUXVW��1� ��� ��� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH��� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH��� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH��� 6WURNHV�ORQJHU�WKDQ�����PP�DUH�DYDLODEOH�RQO\�IRU�KLJK�OHDG�
�/HDG�������6SHFLDO�RUGHU�LWHP�

1RWH��� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��+
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH

OHQJWK�1RWH��1R�HQWU\�
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â��Â��
����WR������
���PP�SLWFK�

������PP 1R�HQWU\��
6WDQGDUG��6�

=��1RQ�PRWRU�VLGH�1RWH��� *&��&OHDQ �/�����P�
������PP %.��

%UDNHV�
SURYLGHG

�/���P
������PP 8��)URP�WKH�WRS /HDG����

����WR������
���PP�SLWFK�

��/����P
����PP 5��)URP�WKH�ULJKW �.��.���.

�)OH[LEOH�FDEOH�/��)URP�WKH�OHIW

)��+

B

5.
5

8.
3

3.5
1.5 1.5

165+/-1 (with brake) (Note 1) 240+/-3: When origin is on motor side
(240): When origin  is on non-motor side

Approx. 250

Approx. 250 (Motor cable length)

11
0 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

135+/-1 (Note 1)

210+/-3 (Note 2):
When origin is on motor side

(210): When origin  is
on non-motor side

124
70

140

110+/-3 (Note 3): When origin  is on non-motor side
(110): When origin is on motor side

Effective stroke

35+/-1 (Note 4)

131
135

136 B

83 22
.5

7577
.5

23
.5

19

50 45

30 (with brake) L

14

17

40.5

20

11.5
62 17

18.5
5.5

Cross-section C-C

Use M6 x 1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(9)

Direction of robot cable extraction

C

C

132

200
113

AM x 200
200

168 (with brake)

11
0

10
0

N-M6 x 1.0 Depth10
157AM x 200

138

143 (with brake)

151

181 (with brake)

K +/-0.02

8-M6 x 1.0 Depth8
2-ϕ6H7 Depth8

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth7

U S

R

L 2-ϕ10H7 See cross-section C-C.

N-ϕ7 Depth9

(ϕ
10

H
7)

� +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH��/HDG���Â��Â��

1RWH����The�model�with�a�lead�of�30mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����If�selecting�5mm�lead�speci¿cations�then�the�origin�point�cannot�be�changed�to�the�
QRQ�PRWRU�VLGH�

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH��� 6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����: 5��:LWK�5*7 /��:LWK�/&' 31��313

��������9����: &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������: 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQVXOW�XV�IRU�GHOLYHU\�WLPH�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
Note�2.�212.5+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
Note�3.�110+/-4�when�the�high�lead�speci¿cation�(Lead�30)�is�used.

Note�4.�32.5+/-1�when�the�high�lead�speci¿cation�(Lead�30)�is�used.
1RWH����0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH����:HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� �����1RWH�� �����1RWH�� �����1RWH�� �����1RWH��

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
0 � � � � � � � � � � � � � � � � � � � � � � �
1 � � � � � � � � � �� �� �� �� �� �� �� �� �� �
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ��� ���
/HDG��� ���� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ���
/HDG�� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ���
1RWH�����:KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�

WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�
1RWH�����6WURNHV�ORQJHU�WKDQ�����PP�DUH�VSHFLDO�RUGHU�LWHPV��3OHDVH�FRQWDFW�XV�IRU�VSHHG�VHWWLQJ�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

GF14XL

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

A

CB

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP�

$ % &

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ���

��NJ ���� ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH��6HUYLFH�OLIH�LV�FDOFXODWHG�IRU�����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ ф��
%DOO�VFUHZ�OHDG��PP� ��

0D[LPXP�VSHHG���PP�VHF� ����

0D[LPXP�SD\ORDG��NJ� ��

5DWHG�WKUXVW��1� ���

6WURNH��PP� ����WR���������PP�SLWFK�

2YHUDOO�OHQJWK��PP� 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é+����

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

*)��;/ 6 + ��
0RGHO 0RGHO ,QVWDOODWLRQ�

GLUHFWLRQ
/HDG�

GHVLJQDWLRQ
&DEOH�HQWU\�
ORFDWLRQ

2ULJLQ�SRVLWLRQ�
FKDQJH

)UDPH *UHDVH�
W\SH

6WURNH &DEOH�
OHQJWK�1RWH��

6��6WUDLJKW�
PRGHO

1R�HQWU\��
6WDQGDUG�
�6SRW�IDFLQJ�

����WR�����
���PP�SLWFK�+��+RUL]RQWDO�

LQVWDOODWLRQ
1R�HQWU\��
6WDQGDUG��6�

1RQH��
6WDQGDUG

1RQH��6WDQGDUG �/�����P�
*&��&OHDQ �/���P

8��)URP�WKH�WRS =��1RQ�
PRWRU�VLGH�

7��7DSSLQJ ��/����P
5��)URP�WKH�ULJKW �.��.���.

�)OH[LEOH�
FDEOH�

/��)URP�WKH�OHIW

GF14XL

50 15

(2.6)

45

4-M5x0.8 Depth 11

90

(2.6)L

(The same position on the opposite
surface at 2 locations)

263+/-1 (Note 1)
Cable securing 
position
 (Note 3)

Effective stroke
346+/-3: 

When origin is on motor side

70

128

12
9

 (B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

8-M6x1.0 Depth 13

140

Approx. 250 
(Motor cable length)

(346: When origin  is 
on non-motor side)

Ground terminal
 (M4)

91
.5

140
118

14020
27

B

9.5ϕ7 ϕ1
1

(11)

(ϕ
10

  H
7)

Cross-section A-A

8.
3

5.
5

1.5
3.5

1.5

Details of B

(14)

(1
8)

(15)

(4
0)

10

12

47

25

12

12

Direction of robot cable extraction

(215:When origin is on motor side)

215+/-3: 
When origin is 
on non-motor 
side 132+/-1

(Note 1)

2-ϕ6 H7 Depth 8

U R

S

L

Spot facing hole installation specifications

Tapping hole installation specifications

Details of D

A162

B-(See cross-section A-A.)200
152 (B/2-2)x200 C

11
0

(See cross-section A-A.)

A

A

A

B-M6x1.0 Depth 10

162

162 (B/2-2)x200
200

C

10
0

ϕ10 H7 Depth 11

(See cross-section A-A.)ϕ10 H7 Depth 11

D

D

+ 
0.

02
 

0
10

   
   

  D
ep

th
 1

1

2

(R)(R)

(A)

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

>&DXWLRQV�DIWHU�SXUFKDVH@
��:KHQ�FKDQJLQJ�WKH�RULJLQ�SRVLWLRQ��FRQWDFW�XV�VLQFH�WKH�DGMXVWPHQW�LV�QHHGHG�
��:KHQ�FKDQJLQJ�WKH�FDEOH�HQWU\�ORFDWLRQ��FRQWDFW�XV�VLQFH�QHFHVVDU\�SDUWV�PD\�YDU\�GHSHQGLQJ�RQ�WKH�FDEOH�
HQWU\�ORFDWLRQ�

•�Do�not�install�the�robot�with�the�horizontal�installation�speci¿cations�in�a�direction�other�than�the�horizontal�
GLUHFWLRQ�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

% �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

& ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ���

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�FKDQJLQJ�WKH�UHWXUQ�WR�RULJLQ�GLUHFWLRQ��WKH�DGMXVWPHQW�LV�QHHGHG���7KH�VWDQGDUG�LV�WKH�RULJLQ�RQ�WKH�PRWRU�VLGH��
1RWH���� 6HFXUH�WKH�FDEOH�ZLWK�D�WLH�EDQG����PP�RU�OHVV�IURP�XQLW¶V�HQG�IDFH�WR�SUHYHQW�WKH�FDEOH�IURP�EHLQJ�VXEMHFWHG�WR�H[FHVVLYH�ORDGV�
1RWH���� 7KH�FDEOH¶V�PLQLPXP�EHQG�UDGLXV�LV�5���
1RWH���� The�length�under�head�of�the�hexagonal�socket�head�bolts�(M6�x�1.0)�that�are�used�to�install�the�main�body�with�the�spot�facing�hole�installation�speci¿cations�is�20mm�or�more.�

It�is�recommended�that�the�length�under�head�of�the�hexagonal�socket�head�bolts�(M6�x�1.0)�that�are�used�to�install�the�main�body�with�the�tapping�hole�installation�speci¿cations�is�the�thickness�of�the�
LQVWDOODWLRQ�EDVH�����PP�RU�OHVV�

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH�
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

76;
3RVLWLRQHU��

1RWH��
'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�

PRQLWRU
,�2�VHOHFWLRQ %DWWHU\

13��131 %��:LWK�EDWWHU\
�$EVROXWH�76�; ��������9����: 1R�HQWU\��

1RQH
31��313

��������9����: &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�/��:LWK�/&' '1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\� 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������: 1R�HQWU\��
6WDQGDUG

1��131 %��:LWK�EDWWHU\
�$EVROXWH�3��313

(��&(�
PDUNLQJ

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH���,I�\RX�QHHG�DQ�LQVWDOODWLRQ�SRVWXUH�RWKHU�WKDQ�WKH�KRUL]RQWDO�LQVWDOODWLRQ��SOHDVH�FRQWDFW�XV�

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

F17 � +LJK�OHDG��/HDG���

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG
65��;���1RWH��
5&;�����5&;���������5&;���

3URJUDPPLQJ���,�2�SRLQW�WUDFH���5HPRWH�FRPPDQG��
2SHUDWLRQ�XVLQJ�56����&�FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH���5HPRWH�FRPPDQG
5'9�;����5%5���+RUL]RQWDO�

3XOVH�WUDLQ�FRQWURO
5'9�;����5%5���9HUWLFDO�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/
H
DG

��
� ��NJ ���� ���� ����

/
H
DG

��
� ��NJ ���� ���� ����

/
H
DG

��
� �NJ ���� ����

��NJ ���� ���� ���� ��NJ ���� ���� ���� ��NJ ���� ����
��NJ ���� ��� ��� ��NJ ��� ��� ���� ��NJ ���� ����

/
H
DG

��
� ��NJ ���� ��� ���

/
H
DG

��
� ��NJ ��� ��� ����

/
H
DG

��
� ��NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���� ��NJ ���� ����
��NJ ���� ��� ��� ��NJ ��� ��� ���� ��NJ ��� ���

/
H
DG

��
� ��NJ ���� ��� ���

/
H
DG

��
� ��NJ ��� ��� ����

���NJ ���� ��� ��� ���NJ ��� ��� ����
���NJ ���� ��� ��� ���NJ ��� ��� ����

1RWH��'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� ��
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� �����������1RWH�� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� �� ���
9HUWLFDO ± ��

5DWHG�WKUXVW��1� ��� ��� ���
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH���� 6WURNH����
9HUWLFDO ± 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 5HSHDWDELOLW\�IRU�VLQJOH�RVFLOODWLRQ�
1RWH���� :KHQ�WKH�VWURNH�H[FHHGV����PP��DOWKRXJK�GHSHQGLQJ�RQ�WKH�

PRYLQJ�UDQJH��WKH�EDOO�VFUHZ�PD\�UHVRQDWH��FULWLFDO�VSHHG���,Q�
WKDW�FDVH��PDNH�DGMXVWPHQW�WR�ORZHU�WKH�VSHHG�RQ�WKH�SURJUDP�
XVLQJ�WKH�PD[LPXP�VSHHG�JLYHQ�LQ�WKH�EHORZ�WDEOH�DV�D�JXLGH�

1RWH���� 7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�H[FHHGLQJ������PP�VHF���0D[��
VSHHG���D�UHJHQHUDWLRQ�XQLW�5*��LV�UHTXLUHG�

1RWH��� /RQJHU�WKDQ�����PP�VWURNH�FDQ�EH�KDQGOHG�E\�WKH�KLJK�OHDG�
speci¿cation�(Lead�40)�only.

1RWH��� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â����
����WR�����
���PP�SLWFK�

�/�����P�
������PP 1R�HQWU\��

6WDQGDUG��6�
=��1RQ�PRWRU�VLGH� *&��&OHDQ �/���P

������PP %.��
%UDNHV
SURYLGHG

��/����P
������PP 8��)URP�WKH�WRS1RWH�� /HDG�����

����WR�����
���PP�SLWFK�

�.��.���.
�)OH[LEOH�FDEOH�5��)URP�WKH�ULJKW

/��)URP�WKH�OHIW

)��

B (S=2/1)

3.7

5.
5

8.
6

1.5 2.5

186.5+/-2 (with brake) (Note 1)

 270+/-3: When origin is on motor side
(270): When origin  is on non-motor side

Approx. 250

15
4 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

Approx. 250 (Motor cable length)

8-M8 x 1.25 Depth25
2-ϕ6H7 Depth10

Effective stroke

120
142

 240+/-3: When origin is on motor side
(240): When origin  is on non-motor side

155
156.5+/-2 (Note 1)

125+/-3: When origin  is on non-motor side

(125): When origin is on motor side

42.5+/-1(Note 1)

10
0

165

B

27
28

168

20

12
(The same position on the opposite surface at two (2) locations)

L

50 52.5

12
.54-M5 x 0.8 Depth12

97
.5

97
.1

30 (with brake)

200
40

13
2

A 75
N-ϕ9 Depth27 (Note 2)

70 (with brake)
M x 200

C+/-0.02166.5
196.5 (with brake)

76.5

30

24

22 (with brake) 13
56.5 (with brake 37.5) 17

Direction of robot cable extraction

U S

R

L

2-ϕ10H7 Depth16

(Note 5)

1RWH����The�model�with�a�lead�of�40mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH��� 8SSHU�URERW�FDEOH��8��RQ�PRGHOV�HTXLSSHG�ZLWK�EUDNH�LV�D�VSHFLDO�RUGHU�LWHP�
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����The�robot�with�the�high�lead�speci¿cations�(lead�40)�needs�a�regenerative�unit.
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; ���
3RVLWLRQHU��1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�

XQLW��1RWH��
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: 1R�HQWU\��1RQH /��:LWK�/&' 31��313

5��:LWK�5*7 &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�

XQLW��1RWH��
,�2�VHOHFWLRQ %DWWHU\

��������WR����: 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 1R�HQWU\��1RQH 3��313

5��:LWK�5*� &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��Upper�robot�cable�(U)�on�models�with�brakes�is�a�special�order�item,�so�please�consult�our�sales�of¿ce�or�sales�representative�for�assistance.�
�([WHUQDO�GLPHQVLRQV��RYHUDOO�OHQJWK������PP�

5'9�; � ��
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW��1RWH��

���$&���9 �������:�RU�OHVV 5%5���+RUL]RQWDO�
5%5���9HUWLFDO�

1RWH��� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� Make�a�separate�consultation�with�us�regarding�robot�cable�(brake�speci¿cations)�U�extraction.�(External�dimensions:�overall�length�+�20�mm)
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�

WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�
1RWH���� 7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�H[FHHGLQJ������PP�VHF���0D[��VSHHG���D�UHJHQHUDWLRQ�XQLW�5*��LV�UHTXLUHG�

�&RQWUROOHU

1RWH��>7KH�IROORZLQJ�DUUDQJHPHQWV�UHTXLUH�D�UHJHQHUDWLRQ�XQLW�@
��8VLQJ�LQ�WKH�XSULJKW�SRVLWLRQ�
��7R�PRYH�DW�D�VSHHG�H[FHHGLQJ�������PP�VHF�KRUL]RQWDOO\�
��+LJK�OHDG������XVHG�KRUL]RQWDOO\�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ����
/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
0 � � � � � � � � � � � � � � � � � � � � � �
1 � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �
& ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ����������1RWH��� ��� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ���



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F17

)�����+LJK�OHDG�W\SH��/HDG���

B

10
0

165
52.5

12
.5

97
.5

B

Effective stroke

27
28

245+/-5: When origin is on motor side
(244): When origin  is on non-motor side

155
157.5+/-2 (Note 1)

131+/-5: When origin is on non-motor side

(130): When origin is on motor side

97
.1

Approx. 250 (Motor cable length)

168

20

(16)

12

15
4 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

120
142 43.5+/-1

(Note 1)

3.7

5.
5

8.
6

1.5 2.5

D

200
45

13
2

171.5

M x 200

2-ϕ10H7 Depth16
See cross-section D-D.

A 80

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

Cross-section D-D

(26.5)

50

L

D

76.5

30
24

22 13
61.5 17

Direction of robot cable extraction

8-M8 x 1.25 Depth25
2-ϕ6H7 Depth10

U S

R

L

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth12

N-ϕ9 Depth26.5 (Note 2)

(ϕ
10

H
7)

+/-0.02
C

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���

0 � � � � � � � � � � � � � � � � � � � � � � � � � �

1 � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �

& ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�VSHHG�1RWH���

�PP�VHF�

/HDG��� ���� ���� ���� ���� ���� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F17L � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���5�
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����5 ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;����5%5�
��+RUL]RQWDO�

3XOVH�WUDLQ�FRQWURO
5'9�;����5%5�
��9HUWLFDO�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� �NJ ���� ����

��NJ ���� ��� ���� ��NJ ���� ��� ���� �NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���� ��NJ ���� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� ��
0D[LPXP�VSHHG�1RWH����PP�VHF� ����
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO ��
9HUWLFDO ��

5DWHG�WKUXVW��1� ���
6WURNH��PP� �����WR���������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH����
9HUWLFDO 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ�����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��/ ��
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG �����WR�����
���PP�SLWFK�

�/�����P�
1R�HQWU\��
6WDQGDUG��6�

=��1RQ�PRWRU�VLGH� *&��&OHDQ �/���P
%.��
%UDNHV�
SURYLGHG

��/����P
8��)URP�WKH�WRS�1RWH�� �.��.���.

�)OH[LEOH�FDEOH�5��)URP�WKH�ULJKW
/��)URP�WKH�OHIW

)��/

B

2.51.5
3.7

5.
5

8.
6

293+/-7: When origin is on motor side
(293): When origin  is on non-motor side

182+/-7: When origin  is on non-motor side
(182): When origin is on motor side

Approx. 250 (Motor cable length)

203+/-2 (Note 1)

15
4 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

Effective stroke

155 87+/-2 (Note 1)

233+/-2 (With brake) (Note 1)

323+/-7 (With brake)

B

165

10
0

27
28

168

20

97
.5

12
.552.550

30 (With brake) L

C

C
M x 200

93 200
A123 (With brake) 82

211.5

241.5 (With brake) K+/-0.02

13
2

120
142

76.5

30

24

22 (With brake 12) 13
17

Cross-section C-C

(26.5)

(16)

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

Direction of robot cable extraction

8-M8 x 1.25 Depth25

2-ϕ6H7 Depth10

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth12

2-ϕ10H7 Depth16
See cross-section C-C.

N-ϕ9 Depth26.5 (Note 2)

(ϕ
10

H
7)

U S

R

L

56.5 (With brake 37.5) 

(Note 4)

76; ��� 5
3RVLWLRQHU��1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\�1RWH��
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 5��:LWK�5*7 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: /��:LWK�/&' 31��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; �� 5
&RQWUROOHU 'ULYHU��

3RZHU�FDSDFLW\�1RWH��
8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

1R�HQWU\��6WDQGDUG 5��:LWK�5*� 1��131 %��:LWK�EDWWHU\
�$EVROXWH���������WR����: (��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH����8SSHU�URERW�FDEOH��8��RQ�PRGHOV�HTXLSSHG�ZLWK�EUDNH�LV�D�VSHFLDO�RUGHU�LWHP�
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����$FFHOHUDWLRQ���GHFHOHUDWLRQ�LV�GLIIHUHQW�GHSHQGLQJ�WKH�3RVLWLRQHU�RU�&RQWUROOHU�RU�

'ULYHU�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

1RWH��Upper�robot�cable�(U)�on�models�with�brakes�is�a�special�order�item,�so�please�consult�our�sales�of¿ce�or�sales�representative�for�assistance.�
�([WHUQDO�GLPHQVLRQV��RYHUDOO�OHQJWK������PP�

5'9�;� � ��
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\�1RWH�� 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV 5%5���+RUL]RQWDO�

5%5���9HUWLFDO�

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� ,W�LV�QRW�DOORZHG�WR�XVH�D�FRXQWHU�ERUH�ZDVKHU��HWF��ZKHQ�LQVWDOOLQJ�WKH�PDLQ�XQLW�

1RWH���� 7KLV�LV�WKH�ZHLJKW�RI�WKH�PRGHO�ZLWKRXW�D�EUDNH��7KH�ZHLJKW�RI�WKH�PRGHO�HTXLSSHG�ZLWK�D�EUDNH�LV����NJ�KHDYLHU�WKDQ�WKLV�YDOXH�
1RWH���� Make�a�separate�consultation�with�us�regarding�robot�cable�(brake�speci¿cations)�U�extraction.�(External�dimensions:�

RYHUDOO�OHQJWK������PP�

(IIHFWLYH�VWURNH ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ���
0 � � � � � � � � � � � � � �� �� �� �� �� �� ��
1 �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
. ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ�1RWH�� ���� ���� ���� ���� ���� ���� ���� ���� ���� �� ���� ���� ���� ���� ���� ���� ���� ���� �� ����
0D[LPXP�VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ���� ��� ���
6SHHG�VHWWLQJ ± ��� ��� ��� ��� ���

1RWH���� :KHQ�WKH�VWURNH�H[FHHGV�����PP��DOWKRXJK�GHSHQGLQJ�RQ�WKH�PRYLQJ�UDQJH��WKH�EDOO�VFUHZ�PD\�UHVRQDWH��FULWLFDO�VSHHG���,Q�WKDW�FDVH��PDNH�DGMXVWPHQW�WR�ORZHU�WKH�VSHHG�RQ�WKH�SURJUDP�XVLQJ�WKH�
PD[LPXP�VSHHG�JLYHQ�LQ�WKH�DERYH�WDEOH�DV�D�JXLGH�

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
O

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

GF17XL

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ���

A

CB

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP�

$ % &

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ���

��NJ ���� ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

1RWH��6HUYLFH�OLIH�LV�FDOFXODWHG�IRU�����PP�VWURNH�PRGHOV�

$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ ф��
%DOO�VFUHZ�OHDG��PP� ��

0D[LPXP�VSHHG���PP�VHF� �����1RWH��

0D[LPXP�SD\ORDG��NJ� ��

5DWHG�WKUXVW��1� ���

6WURNH��PP� ����WR���������PP�SLWFK�

2YHUDOO�OHQJWK��PP� 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :���é+�����

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH��� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�H[FHHGLQJ�����PP�VHF���0D[��

VSHHG���D�UHJHQHUDWLRQ�XQLW�LV�UHTXLUHG�
1RWH��� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

GF17XL

(2.6)

50 62.5 15

4-M5x0.8 Depth 12

10
3

(2.6)L

(The same position on the opposite
surface at 2 locations)

Cable securing 
position
 (Note 3) 132

160

Approx. 250 
(Motor cable length)

175

15
6

 (B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

8-M8x1.25 Depth 25

Effective stroke

Ground terminal
 (M4)

168
144

19
10

5.
5

32
.5

168

B

(ϕ
10

  H
7) (15)

ϕ9 ϕ1
412

5.
5

8.
6

3.7
2.5 1.5

Details of B

(14)

(1
8)

(15)

(4
0)

12

1054

25

12

12

Direction of robot cable extraction
323+/-1 (Note 1)

(420.5: When origin  is 
on non-motor side)

420.5+/-3:
When origin is on motor side (265.5: When origin is on motor side)

265.5+/-3: 
When origin is 
on non-motor 
side 168+/-1 

(Note 1)

2-ϕ6 H7 Depth 10

Cross-section A-A

U R

S

L

A182

13
4

(B/2-2)×200
200

C

B-(See cross-section A-A.)

172

A

A

A

200
(B/2-2)×200 C

B-M8x1.25 Depth 15

13
0

192

182

(See cross-section A-A.)ϕ10 H7 Depth 15

(See cross-section A-A.)ϕ10 H7 Depth 15

D

D

+ 
0.

02
 

0
10

   
   

  D
ep

th
 1

5

2

(R)(R)

(A)

Details of D

Spot facing hole installation specifications

Tapping hole installation specifications

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����
1RWH����:KHQ�RSHUDWLQJ�WKH�URERW�DW�D�VSHHG�WKDW�LV�D�PD[LPXP�VSHHG�RI�����PP�VHF�RU�OHVV��WKH�

UHJHQHUDWLYH�XQLW�LV�QRW�QHHGHG�

>&DXWLRQV�DIWHU�SXUFKDVH@
��:KHQ�FKDQJLQJ�WKH�RULJLQ�SRVLWLRQ��FRQWDFW�XV�VLQFH�WKH�DGMXVWPHQW�LV�QHHGHG�
��:KHQ�FKDQJLQJ�WKH�FDEOH�HQWU\�ORFDWLRQ��FRQWDFW�XV�VLQFH�QHFHVVDU\�SDUWV�PD\�YDU\�GHSHQGLQJ�RQ�WKH�
FDEOH�HQWU\�ORFDWLRQ�

•�Do�not�install�the�robot�with�the�horizontal�installation�speci¿cations�in�a�direction�other�than�the�
KRUL]RQWDO�GLUHFWLRQ�

(IIHFWLYH�VWURNH ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

% �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

& ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ���

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

1RWH��� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH��� :KHQ�FKDQJLQJ�WKH�UHWXUQ�WR�RULJLQ�GLUHFWLRQ��WKH�DGMXVWPHQW�LV�QHHGHG���7KH�VWDQGDUG�LV�WKH�RULJLQ�RQ�WKH�PRWRU�VLGH��
1RWH��� 6HFXUH�WKH�FDEOH�ZLWK�D�WLH�EDQG����PP�RU�OHVV�IURP�XQLW¶V�HQG�IDFH�WR�SUHYHQW�WKH�FDEOH�IURP�EHLQJ�VXEMHFWHG�WR�H[FHVVLYH�ORDGV�
1RWH��� 7KH�FDEOH¶V�PLQLPXP�EHQG�UDGLXV�LV�5���
1RWH���� The�length�under�head�of�the�hexagonal�socket�head�bolts�(M8�x�1.25)�that�are�used�to�install�the�main�body�with�the�spot�facing�hole�installation�speci¿cations�is�45�mm�or�more.�

It�is�recommended�that�the�length�under�head�of�the�hexagonal�socket�head�bolts�(M8�x�1.25)�that�are�used�to�install�the�main�body�with�the�tapping�hole�installation�speci¿cations�is�the�thickness�of�the�
LQVWDOODWLRQ�EDVH������PP�RU�OHVV�

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH

5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�XVLQJ�56�
���&�FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH�
5HPRWH�FRPPDQG

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH��7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�
H[FHHGLQJ�����PP�VHF���0D[��
VSHHG���D�UHJHQHUDWLRQ�XQLW�LV�
UHTXLUHG�

� 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

76; ���
3RVLWLRQHU��

1RWH��
'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�

XQLW�
/&'�

PRQLWRU
,�2�VHOHFWLRQ %DWWHU\

13��131 %��:LWK�EDWWHU\
�$EVROXWH�76�; ��������9�����WR����: 1R�HQWU\��

1RQH
1R�HQWU\��
1RQH

31��313
&&��&&�/LQN 1��1RQH

�,QFUHPHQWDO�5��:LWK�5*7 /��:LWK�/&' '1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; �� 5�1RWH��

&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\� 8VDEOH�IRU�&( 5HJHQHUDWLYH�
XQLW�

,�2�VHOHFWLRQ %DWWHU\

��������WR����: 1R�HQWU\��
6WDQGDUG

1��131 %��:LWK�EDWWHU\
�$EVROXWH�1R�HQWU\��

1RQH
3��313

(��&(�
PDUNLQJ

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�5��:LWK�

5*�
'1��'HYLFH1HW70

3%��352),%86

*)��;/ 6 + ��
0RGHO 0RGHO ,QVWDOODWLRQ�

GLUHFWLRQ
/HDG�

GHVLJQDWLRQ
&DEOH�HQWU\�
ORFDWLRQ

2ULJLQ�SRVLWLRQ�
FKDQJH

)UDPH *UHDVH�
W\SH

6WURNH &DEOH�
OHQJWK�1RWH��

6��6WUDLJKW�
PRGHO

1R�HQWU\��
6WDQGDUG�
�6SRW�IDFLQJ�

����WR�����
���PP�SLWFK�+��+RUL]RQWDO�

LQVWDOODWLRQ
1R�HQWU\��
6WDQGDUG��6�

1RQH��
6WDQGDUG

1RQH��6WDQGDUG �/�����P�
*&��&OHDQ �/���P

8��)URP�WKH�WRS =��1RQ�
PRWRU�VLGH�

7��7DSSLQJ ��/����P
5��)URP�WKH�ULJKW �.��.���.

�)OH[LEOH�
FDEOH�

/��)URP�WKH�OHIW

1RWH���,I�\RX�QHHG�DQ�LQVWDOODWLRQ�SRVWXUH�RWKHU�WKDQ�WKH�KRUL]RQWDO�LQVWDOODWLRQ��SOHDVH�FRQWDFW�XV�

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\� 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

F20 � 2ULJLQ�RQ�WKH�QRQ�PRWRU�VLGH�LV�VHOHFWDEOH

� +LJK�OHDG��/HDG���

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ����

&RQWUROOHU 2SHUDWLRQ�PHWKRG
65��;���1RWH�
5&;�����5&;���������5&;����

3URJUDPPLQJ���,�2�SRLQW�WUDFH���5HPRWH�FRPPDQG��
2SHUDWLRQ�XVLQJ�56����&�FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH���5HPRWH�FRPPDQG
5'9�;����5%5���+RUL]RQWDO�

3XOVH�WUDLQ�FRQWURO
5'9�;����5%5���9HUWLFDO�

A

CB C

B
A

A
C

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP� 9HUWLFDO�LQVWDOODWLRQ��8QLW��PP�

$ % & $ % & $ &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ����

��NJ ���� ���� ���� ��NJ ���� ���� ���� ��NJ ���� ����
��NJ ���� ��� ��� ��NJ ���� ��� ���� ��NJ ���� ����

/
H
D
G
��
� ��NJ ���� ��� ����

/
H
D
G
��
� ��NJ ���� ��� ����

/
H
D
G
��
� ��NJ ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���� ��NJ ���� ����
���NJ ���� ��� ��� ���NJ ��� ��� ���� ��NJ ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� �� �� ��
0D[LPXP�VSHHG�1RWH����PP�VHF� ���� �����������1RWH��� ���
0D[LPXP�
SD\ORDG��NJ�

+RUL]RQWDO �� ��� ±
9HUWLFDO ± ��

5DWHG�WKUXVW��1� ��� ��� ����
6WURNH��PP� ����WR������1RWH������PP�SLWFK�
2YHUDOO�OHQJWK�
�PP�

+RUL]RQWDO 6WURNH���� 6WURNH���� ±
9HUWLFDO ± 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�

VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�
VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�
E\�UHIHUULQJ�WR�WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�EHORZ�

1RWH���� 7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�H[FHHGLQJ������PP�VHF���0D[��
VSHHG���D�UHJHQHUDWLRQ�XQLW�5*��LV�UHTXLUHG�

1RWH���� /RQJHU�WKDQ�����PP�VWURNH�FDQ�EH�KDQGOHG�E\�WKH�KLJK�OHDG�
speci¿cation�(Lead�40)�only.

1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��
0RGHO /HDG�

GHVLJQDWLRQ
%UDNH�1RWH�� &DEOH�HQWU\�

ORFDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1R�HQWU\��
1R�EUDNHV

1RQH��6WDQGDUG 1RQH��6WDQGDUG /HDG���Â����
����WR������
���PP�SLWFK�

�/�����P�
������PP 1R�HQWU\��

6WDQGDUG��6�
=��1RQ�PRWRU�VLGH� *&��&OHDQ �/���P

������PP %.��%UDNHV
SURYLGHG

��/����P
������PP 8��)URP�WKH�WRS�1RWH�� /HDG�����

����WR�����
���PP�SLWFK�

�.��.���.
�)OH[LEOH�FDEOH�5��)URP�WKH�ULJKW

/��)URP�WKH�OHIW

)��

2.5

8.
6

3.7

5.
5

1.5

B

Approx. 250 (Motor cable length)

18
5 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 )

Approx. 250 206+/-2 (with brake) (Note 1)
302+/-3: When origin is on motor side
(302): When origin  is on non-motor side

176+/-2 (Note 1)

 272+/-3: When origin is on motor side
(272): When origin  is on non-motor side

Effective stroke

160
180 50+/-1

(Note 1)

(145): When origin is on motor side
 145+/-3: When origin  is on non-motor side

B

11
5

202

28
20

31

30 (with brake)

6550

12
.5

11
2.

1
11

4.
1

L

C
AM x 200

200
72 95

16
2

102 (with brake)
206 (with brake)

176 K +/-0.02

C
Cross-section C-C

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 45mm or more.

(33)

4.8
(14.8)

39 (with brake 42.5) 1790
13

3020

4-M8 x 1.25 Depth30
2-ϕ8H7 Depth10

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth15

(ϕ
10

H
7)

2-ϕ10H7 See cross-section C-C.

N-ϕ9 Depth33 (Note 2)

U S

R

L

Direction of robot cable extraction

27 (with brake 14.5)

(Note 5)

199
15

1RWH����The�model�with�a�lead�of�10mm�cannot�select�speci¿cations�without�brake�(horizontal�
speci¿cations).�
The�model�with�a�lead�of�40mm�cannot�select�speci¿cations�with�brake�(vertical�
speci¿cations).

1RWH����8SSHU�URERW�FDEOH��8��RQ�PRGHOV�HTXLSSHG�ZLWK�EUDNH�LV�D�VSHFLDO�RUGHU�LWHP�
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����$FFHOHUDWLRQ���GHFHOHUDWLRQ�LV�GLIIHUHQW�GHSHQGLQJ�WKH�3RVLWLRQHU�RU�&RQWUROOHU�RU�

'ULYHU�
1RWH����The�robot�with�the�high�lead�speci¿cations�(lead�40)�needs�a�regenerative�unit.
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; ���
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\�1RWH��
5HJHQHUDWLYH�

XQLW��1RWH��
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: 1R�HQWU\��1RQH /��:LWK�/&' 31��313

5��:LWK�5*7 &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��

3RZHU�FDSDFLW\�1RWH��
8VDEOH�IRU�&( 5HJHQHUDWLYH�

XQLW��1RWH��
,�2�VHOHFWLRQ %DWWHU\

1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH���������WR����: (��&(�PDUNLQJ 1R�HQWU\��1RQH 3��313

5��:LWK�5*� &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

1RWH��Upper�robot�cable�(U)�on�models�with�brakes�is�a�special�order�item,�so�please�consult�our�sales�of¿ce�or�sales�representative�for�assistance.�
�([WHUQDO�GLPHQVLRQV��RYHUDOO�OHQJWK������PP�

5'9�;� � ��
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\�1RWH�� 5HJHQHUDWLYH�XQLW�1RWH��

���$&���9 �������:�RU�OHVV 5%5���+RUL]RQWDO�

5%5���9HUWLFDO�

�&RQWUROOHU

1RWH��>7KH�IROORZLQJ�DUUDQJHPHQWV�UHTXLUH�D�UHJHQHUDWLRQ�XQLW�@
��8VLQJ�LQ�WKH�XSULJKW�SRVLWLRQ�
��7R�PRYH�DW�D�VSHHG�H[FHHGLQJ�������PP�VHF�KRUL]RQWDOO\�
��+LJK�OHDG������XVHG�KRUL]RQWDOO\�

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�
1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���

1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV�����NJ�KHDYLHU�WKDQ�WKH�PRGHOV�ZLWK�
QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�

1RWH���� Make�a�separate�consultation�with�us�regarding�robot�cable�(brake�speci¿cations)�U�extraction.�(External�
GLPHQVLRQV��RYHUDOO�OHQJWK������PP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ����

/ ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
0 � � � � � � � � � � � � � � � � � � � � � �
1 � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�
VSHHG�1RWH���
�PP�VHF�

/HDG��� ������������1RWH��� ��� ��� ��� ���
/HDG��� ��� ��� ��� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��

1RWH���� :KHQ�WKH�VWURNH�H[FHHGV����PP��DOWKRXJK�GHSHQGLQJ�RQ�WKH�PRYLQJ�UDQJH��WKH�EDOO�VFUHZ�PD\�UHVRQDWH��FULWLFDO�VSHHG���,Q�WKDW�FDVH��PDNH�DGMXVWPHQW�WR�ORZHU�WKH�VSHHG�RQ�WKH�SURJUDP�XVLQJ�WKH�
PD[LPXP�VSHHG�JLYHQ�LQ�WKH�DERYH�WDEOH�DV�D�JXLGH�

1RWH���� 7R�RSHUDWH�WKH�XQLW�DW�D�VSHHG�H[FHHGLQJ������PP�VHF��D�UHJHQHUDWLRQ�XQLW�5*��LV�UHTXLUHG�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F20

)���+LJK�OHDG�W\SH��/HDG���

2.5

8.
6

3.7

5.
5

1.5

B

Approx. 250 (Motor cable length)

18
5 

(B
et

w
ee

n 
kn

oc
ks

 +
/-0

.0
2 ) 177+/-1 (Note 1)

 277+/-5: When origin is on motor side
(276): When origin  is on non-motor side

160
180

Effective stroke

51+/-1
(Note 1)

151+/-5: When origin  is on non-motor side
(150): When origin is on motor side

B

11
5

202

28
20

31

11
4.

1
11

2.
1

6550

12
.5

L

4.8
(14.8)

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 45mm or more.

(33)

Cross-section C-C

M x 200
200

100

C

A

C
K+/-0.02181

77

16
2

90
27

20

13

30

1739

U S

R

L

4-M8 x 1.25 Depth30
2-ϕ8H7 Depth10

Direction of robot cable extraction

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth15

(ϕ
10

H
7)

2-ϕ10H7: See cross-section C-C.

N-ϕ9 Depth33 (Note 2)

199
15

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�

1RWH���� 0LQLPXP�EHQG�UDGLXV�RI�PRWRU�FDEOH�LV�5���

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���

0 � � � � � � � � � � � � � � � � � � � � � � � � � �

1 � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

. ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

0D[LPXP�VSHHG�1RWH���
�PP�VHF�

/HDG��� ���� ���� ���� ���� ���� ��� ��� ���

6SHHG�VHWWLQJ ± ��� ��� ��� ��� ��� ��

1RWH���� :KHQ�WKH�VWURNH�LV�ORQJHU�WKDQ����PP��UHVRQDQFH�RI�WKH�EDOO�VFUHZ�PD\�RFFXU�GHSHQGLQJ�RQ�WKH�RSHUDWLRQ�FRQGLWLRQV��FULWLFDO�VSHHG���,Q�WKLV�FDVH��UHGXFH�WKH�VSHHG�VHWWLQJ�RQ�WKH�SURJUDP�E\�UHIHUULQJ�WR�
WKH�PD[LPXP�VSHHGV�VKRZQ�LQ�WKH�WDEOH�DERYH�

1RWH���� Longer�than�1250mm�stroke�can�be�handled�by�the�high�lead�speci¿cation�(Lead�40)�only.



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

F20N

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ����

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�XVLQJ�56�
���&�FRPPXQLFDWLRQ

76�;����1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���:KHQ�WKH�XQLW�LV�RSHUDWHG�DW�D�
VSHHG�H[FHHGLQJ�WKH�PD[LPXP�
VSHHG�RI������PP�VHF���D�
UHJHQHUDWLRQ�XQLW�LV�UHTXLUHG��

A

CB

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP�

$ % &

/
H
D
G
��
�

��NJ ���� ���� ����

��NJ ���� ���� ����

��NJ ���� ��� ���

��NJ ���� ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ф��
%DOO�VFUHZ�OHDG��PP� ��
0D[LPXP�VSHHG��PP�VHF� �����������1RWH���

0D[LPXP�SD\ORDG��NJ� ��

5DWHG�WKUXVW��1� ���

6WURNH��PP� �����WR����������PP�SLWFK�

2YHUDOO�OHQJWK��PP� 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� $�UHJHQHUDWLYH�XQLW�LV�QHHGHG�LI�XVLQJ�WKH�65��;��76�;�DW�

PD[LPXP�VSHHGV�H[FHHGLQJ�����PP��VHF���,I�XVLQJ�WKH�
5'9�;��WKHQ�WKH�UHJHQHUDWLYH�XQLW�5%5��LV�UHTXLUHG�UHJDUGOHVV�
RI�WKH�LQVWDOODWLRQ�FRQGLWLRQV�

1RWH���� 3RVLWLRQ�GHWHFWRUV�UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

)��1 ��
0RGHO /HDG�

GHVLJQDWLRQ
2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

1RQH��6WDQGDUG 1RQH��6WDQGDUG �����WR�����
����PP�SLWFK�

�/�����P�
=��1RQ�PRWRU�VLGH *&��&OHDQ �/���P

��/����P
�.��.���.
�)OH[LEOH�FDEOH�

)��1

Effective stroke219+/-3: When origin is on L side
(219): When origin is on R side

201+/-3: When origin is on R side

(201): When origin is on L side

160
1712257

242
90

B
L(140)

(50)152

5.
5

8.
6

2.5

3.7

1.5

C section detailed chart

57 (Note 1) 101+/-2 (Note 1)

11
4

N-ϕ9 thickness 33 (Note 3)

35AM x 200
200

35
D

129 E+/-0.02
2-ϕ10H7: See cross-section D-D. D

185 (Between knocks +/-0.02)
53

224.5

201

79

23

19
9

79 23

20
34

28

12
0

202
C

Note 2 53

21
9.

5

Cross-section D-D 

Use M8 x 1.25 hex socket head bolt 
with length head bolt with length (under head) 
of 45mm or more.

(33)

4.8
(14.8)

Cross section of cable guide

35 25 77
93

16
2

0.5

4-M8 x 1.25 Depth16
2-ϕ8H7 Depth10

(ϕ
10

H
7)

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�
FDEOH���
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; ���
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: 5��:LWK�5*7 /��:LWK�/&' 31��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

��������WR����: 1R�HQWU\��6WDQGDUG 1R�HQWU\��1RQH 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 5��:LWK�5*� 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�;� � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

(IIHFWLYH�VWURNH ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� 1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� 7KH�VKDGHG�SRVLWLRQ�LQGLFDWHV�WKH�XVHU�FDEOH�H[WUDFWLRQ�SRUW�
1RWH���� :KHQ�LQVWDOOLQJ�WKH�URERW��GR�QRW�XVH�ZDVKHUV�LQVLGH�WKH�URERW�ERG\�
1RWH���� 7KH�RULJLQ�LV�VHW�RQ�WKH�OHIW��/��VLGH�DW�VKLSSLQJ�

/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
% ��� ��� ��� ��� ��� ��� ��� ��� ��� ����
( ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0 � � � � � � �� �� �� ��
1 �� �� �� �� �� �� �� �� �� ��

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

N15

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���5�
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����5 ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

A

CB

�����

C

B
A

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���

1RWH��'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ϕ��
%DOO�VFUHZ�OHDG��PP� ��
0D[LPXP�VSHHG�1RWH����PP�VHF� ����
0D[LPXP�SD\ORDG��NJ� ��
5DWHG�WKUXVW��1� ���
6WURNH��PP� ����WR����������PP�SLWFK�
2YHUDOO�OHQJWK��PP� 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 7KH�PD[LPXP�VSHHG�PD\�QRW�EH�UHDFKHG�ZKHQ�WKH�PRYLQJ�

GLVWDQFH�LV�VKRUW�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

1�� ��
0RGHO /HDG�

GHVLJQDWLRQ
&DEOH�FDUULHU�

HQWU\�ORFDWLRQ�1RWH��
&DEOH�FDUULHU�
speci¿cation

2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

+RUL�
]RQWDO

1RQH��5�VLGH��6WDQGDUG� 1RQH��6WDQGDUG ����WR�����
����PP�SLWFK�

�/�����P�
5+��+RUL]RQWDO��ULJKW 6��6WDQGDUG�

&DEOH�FDUULHU
=��/�VLGH *&��&OHDQ �/���P

/+��+RUL]RQWDO��OHIW
:DOO

1RQH��/�VLGH��6WDQGDUG� ��/����P
5:��:DOO��ULJKW 0��2SWLRQDO�

&DEOH�FDUULHU
=��5�VLGH �.��.���.

�)OH[LEOH�FDEOH�/:��:DOO��OHIW

�

N15:�Horizontal�installation�/�Standard�Cable�carrier�speci¿cation���

Cross-section H-H

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

12

50 2-M5 x 0.8 Depth10
165+/-3: R-side origin position
(165: When origin is on L side)

L
165+/-3: L-side origin position
(165: When origin is on R side)

Effective stroke

98
150
190

2-ϕ6H7 Depth10
8-M6 x 1.0 Depth14

65
(Note 1)

13
4

Ground terminal for user (M4)

25

58

12
0

To
p 

fa
ce

 o
f s

lid
er

J

145

24

11
9

(N
ot

e 
8)

145

123
(61)

14

ϕ6.5
ϕ8.2

40

Detail of section J

R0.3

7.
2

4.
5

7
3.72.5
R0.3

11
8

C-M6 x 1.0 Depth10
B x 200A

200

10
0

D E x 200
200

105 G +/-0.02
(D)

(A)

2-ϕ10H7 Depth17
See cross-section H-H. 
(Note 5)

56

H

H

K

(B
etw

ee
n k

no
ck

s ϕ
6H

7 +
/-0

.02
)

F-ϕ7 Depth6 See cross-section H-H. (Note 2)

Cross-section of
cable carrier

65+/-1
(Note 1)

16
8

145 86

57
73

35 25

58

11
9

145 61 14

40

M typeS type

Space for optional 
cable for users

Standard cable carrier Optional cable carrier

Note. Cannot pass more 
than 3 urethane 
hoses (ϕ6 x 4).

1RWH����To�¿nd�information�on�cable�carrier�extraction�directions�see�P.197.
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; ��� 5
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 5��:LWK�5*7 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: /��:LWK�/&' 31��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; �� 5
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

��������WR����: 1R�HQWU\��6WDQGDUG 5��:LWK�5*� 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�;� � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH�����:KHQ�XVLQJ�ϕ��KROHV�IRU�LQVWDOODWLRQ��GR�QRW�XVH�D�ZDVKHU��VSULQJ�ZDVKHU��HWF��LQ�WKH�PDLQ�XQLW�
1RWH���� :KHQ�VKLSSHG�IURP�WKH�IDFWRU\��WKH�KRUL]RQWDO�PRGHO�KDV�WKH�RULJLQ�RQ�WKH�ULJKW�VLGH�DQG�WKH�ZDOO�PRGHO�KDV�

WKH�RULJLQ�RQ�WKH�OHIW�VLGH���7KLV�GLDJUDP�VKRZV�WKH�PDFKLQH�ZKRVH�FDEOH�FDUULHU�WDNHQ�RXW�IURP�ULJKW��
1RWH���� If�the�model�is�a�standard�cable�carrier�speci¿cation,�it�is�not�possible�to�pass�3�or�more�ϕ��é���XUHWKDQH�DLU�KRVHV�

1RWH���� :KHQ�XVLQJ�D�ϕ��+��KROH��PDNH�VXUH�WKDW�WKH�SLQ�GRHV�QRW�JR�LQWR�GHHSHU�WKDQ�DV�VKRZQ�
LQ�WKH�GUDZLQJ�

1RWH�����&RQWDFW�XV�IRU�YHUWLFDO�LQVWDOODWLRQ�
1RWH�����:HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV���NJ�KHDYLHU�WKDQ�

WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� 'HSHQGLQJ�RQ�WKH�VWURNH�DQG�WKH�RSHUDWLQJ�FRQGLWLRQV��WKH�FDEOH�FDUULHU�EHQGLQJ�UDGLXV�

PLJKW�EH�ODUJHU��PDNLQJ�LW�KLJKHU�WKDQ�WKH�GLPHQVLRQV�VKRZQ�LQ�WKH�GLDJUDP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

% � � � � � � � � � � � � �� �� ��

& �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
( � � � � � � � � � � � � � � �� �

) � � �� �� �� �� �� �� �� �� �� �� �� �� �� ��

* ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU

�&DEOH�FDUULHU�IRU�XVHUV



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

N15

1����+RUL]RQWDO�LQVWDOODWLRQ�/�Optional�Cable�carrier�speci¿cation���

K

25

12
0

J

24
145
123

16
8

(N
ot

e 
8)

145 86

57
73

35 25 4.
5

7.
2 R0.3

2.5 3.7

7

R0.3

165+/-3: R-side origin position
(165: When origin is on L side)

L
165+/-3: L-side origin position
(165:When origin is on R side)

Effective stroke

98 65
(Note 1)

150
65+/-1
(Note 1)

190

13
4

Ground terminal for user (M4)

11
8

10
0

56

H

C-M6 x 1.0 Depth10
B x 200A

200

H
D E x 200200

105

2-ϕ6H7 Depth10
8-M6 x 1.0 Depth14

12
50 2-M5 x 0.8 Depth10

ϕ6.5
ϕ8.2

G +/-0.02

(D)

(A)

2-ϕ10H7 Depth17
See cross-section H-H. 
(Note 5)

F-ϕ7 Depth6 See cross-section H-H. (Note 2)

To
p 

fa
ce

 o
f s

lid
er

Cross-section of
cable carrier Detail of section J

Cross-section H-H

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

1����:DOO�LQVWDOODWLRQ�/�Optional�Cable�carrier�speci¿cation���

1����:DOO�LQVWDOODWLRQ�/�Standard�Cable�carrier�speci¿cation���

2.
5

7
3.

7

4.5
7.2

R0.3
R0.3

25J

14
5

14
5

12
3

24

26
0

(N
ot

e 
8)

34

120

85

H

200
A B x 200

C-M6 x 1.0 Depth10
(A)

10
0

56

H

105

200
E x 200D (D)

11
8

Ground terminal for user (M4)

165+/-3: L-side origin position
(165: When origin is on R side)

L
165+/-3: R-side origin position
(165: When origin is on L side)

Effective stroke

105 55

K
65 (Note 1)

98 8-M6 x 1.0 Depth14
150
190 65+/-1 (Note 1)Cross-section H-H

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

12

50 2-M5 x 0.8 Depth10

14

ϕ6.5
ϕ8.2

40

Detail of section J
Cross-section of

cable carrier

2-ϕ6H7 Depth10

13
4 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

G +/-0.02

2-ϕ10H7 Depth17
See cross-section H-H. 
(Note 5)

F-ϕ7 Depth6 See cross-section H-H. (Note 2)



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 5&;��� u ��� 5&;��� u ��� 65��; u ��� 76�; u ��� 5'9�;�u ���

N15D

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

5&;����5
5&;���+3�5

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

65��;���5�1RWH�

76�;����5�1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;���
5%5��1RWH� 3XOVH�WUDLQ�FRQWURO

1RWH�����XQLWV�DUH�UHTXLUHG�ZKHQ�XVLQJ�
65����76�;�RU�5'9�;�

A

CB

�

C

B
A

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���

1RWH��'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ϕ��
%DOO�VFUHZ�OHDG��PP� ��
0D[LPXP�VSHHG�1RWH����PP�VHF� ����
0D[LPXP�SD\ORDG��NJ� ��
5DWHG�WKUXVW��1� ���
6WURNH��PP� ����WR����������PP�SLWFK�
2YHUDOO�OHQJWK��PP� 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 7KH�PD[LPXP�VSHHG�PD\�QRW�EH�UHDFKHG�ZKHQ�WKH�PRYLQJ�

GLVWDQFH�LV�VKRUW�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

N15D:�Horizontal�installation�/�Standard�Cable�carrier�speci¿cation

40

14 R0.3
2.5

7
3.7

R0.3

4.
5

7.
2

12

502-M5 x 0.8 Depth10

25

58

12
0

J

145

24

11
9

(N
ot

e 
8)

145

123
(61)

K

11
8

L

165+/-3 (Note 1)

165+/-3 (Note 1) Effective stroke (250: Minimum distance between carrier)

98
150
19065

(Note 2)

Effective stroke

98
150

65
(Note 2)

190

Ground terminal for user (M4)

10
0

56

C-M6 x 1.0 Depth10
A

200
B x 200

D E x 200200

105

(D)

(A)

H

HCross-section H-H

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

8-M6 x 1.0 Depth14

To
p 

fa
ce

 o
f s

lid
er

ϕ6.5
ϕ8.2

Detail of section J G +/-0.02

2-ϕ10H7 Depth17
See cross-section H-H. (Note 5)

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

F-ϕ7 Depth6 See cross-section H-H. (Note 3)

2-ϕ6H7 Depth10
8-M6 x 1.0 Depth14

2-ϕ6H7 Depth10

Cross-section of
cable carrier

� 'RXEOH�FDUULDJH

16
8

145 86

57
73

35 25

58

11
9

145 61 14

40

M typeS type

Space for optional 
cable for users

Standard cable carrier Optional cable carrier

Note. Cannot pass more 
than 3 urethane 
hoses (ϕ6 x 4).

1RWH����To�¿nd�controller�selection�options,�see�the�ordering�method�on�each�controller�page.
1RWH������XQLWV�DUH�UHTXLUHG�ZKHQ�XVLQJ�65��;��76�;�RU�5'9�;�
1RWH����If�a�Àexible�cable�is�needed�for�the�SR1-X,�TS-X,�or�RDV-X,�then�select�3K/5K/10K.�On�the�RCX320/RCX222HP,�the�standard�cable�is�a�Àexible�cable,�so�enter�3L/5L/10L�

ZKHQ�RUGHULQJ�

1��' ��
0RGHO /HDG�GHVLJQDWLRQ ,QVWDOODWLRQ�GLUHFWLRQ Cable�carrier�speci¿cation 2SWLRQ 6WURNH &DEOH�OHQJWK &RQWUROOHU�1RWH��

+��+RUL]RQWDO�LQVWDOODWLRQ 6��6WDQGDUG�&DEOH�FDUULHU
*UHDVH�W\SH

1RQH��6WDQGDUG ����WR�����
����PP�SLWFK�

�/�����P� 5&;���
:��:DOO�LQVWDOODWLRQ 0��2SWLRQDO�&DEOH�FDUULHU *&��&OHDQ �/���P 5&;���+3

��/����P 65��;����XQLWV��1RWH��

�.��.���.
�)OH[LEOH�FDEOH��1RWH��

76�;����XQLWV��1RWH��

5'9�;����XQLWV��1RWH��

�

1RWH�����3RVLWLRQ�RI�WDEOH�FDUULDJH�ZKHQ�VHDUFKHG�WR�WKH�RULJLQ�
1RWH�����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH�����:KHQ�XVLQJ�ϕ��KROHV�IRU�LQVWDOODWLRQ��GR�QRW�XVH�D�ZDVKHU��VSULQJ�ZDVKHU��HWF��LQ�WKH�PDLQ�XQLW�
1RWH���� If�the�model�is�a�standard�cable�carrier�speci¿cation,�it�is�not�possible�to�pass�3�or�more�ϕ��é���XUHWKDQH�DLU�KRVHV�

1RWH����:KHQ�XVLQJ�D�ϕ��+��KROH��PDNH�VXUH�WKDW�WKH�SLQ�GRHV�QRW�JR�LQWR�GHHSHU�WKDQ�DV�VKRZQ�LQ�WKH�GUDZLQJ�
1RWH����� RQWDFW�XV�IRU�YHUWLFDO�LQVWDOODWLRQ�
1RWH�����:HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV���NJ�KHDYLHU�

WKDQ�WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� 'HSHQGLQJ�RQ�WKH�VWURNH�DQG�WKH�RSHUDWLQJ�FRQGLWLRQV��WKH�FDEOH�FDUULHU�EHQGLQJ�UDGLXV�

PLJKW�EH�ODUJHU��PDNLQJ�LW�KLJKHU�WKDQ�WKH�GLPHQVLRQV�VKRZQ�LQ�WKH�GLDJUDP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
% � � � � � � � � � � � � �� �� ��

& �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

( � � � � � � � � � � � � � � �� ��

) � � �� �� �� �� �� �� �� �� �� �� �� �� ��

* ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
:HLJKW��NJ��1RWH�� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU

�&DEOH�FDUULHU�IRU�XVHUV



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
O

LC
M
100

&
RP

S
DFW

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 5&;��� u ��� 5&;��� u ��� 65��; u ��� 76�; u ��� 5'9�;�u ���

N15D

N15D:�Horizontal�installation�/�Optional�Cable�carrier�speci¿cation

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

12502-M5 x 0.8 Depth10

123

145

24

145

J

12
0

25

86
16

8
(N

ot
e 

8)K

73
57

35 25

R0.3

7.
2

4.
5

7
3.72.5
R0.3

65
(Note 2)98

L

15065
(Note 2)

190

165+/-3 (Note 1) Effective stroke
165+/-3 (Note 1)Effective stroke

(250: Minimum distance between carrier)

190
150
98

Ground terminal for user (M4)

11
8

H

H

105

200
E x 200D

10
0

200
A B x 200

C-M6 x 1.0 Depth10
(A)

(D)

56

Cross-section H-H

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

8-M6 x 1.0 Depth14

To
p 

fa
ce

 o
f s

lid
er

ϕ6.5
ϕ8.2

Detail of section J
G +/-0.02

2-ϕ10H7 Depth17
See cross-section H-H. (Note 5)

13
4 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

13
4 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

F-ϕ7 Depth6 See cross-section H-H. (Note 3)

2-ϕ6H7 Depth10
8-M6 x 1.0 Depth14

2-ϕ6H7 Depth10

Cross-section of 
cable carrier

N15D:�Wall�installation�/�Optional�Cable�carrier�speci¿cation

2-M5 x 0.8 Depth10 50

12

2535

57
73

4.5

R0.3
R0.3

7
2.

5
3.

7

7.2

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

12
3

14
5

120
24

14
5

J

31
0

(N
ot

e 
8)

25

9 110

(D)

(A)
C-M6 x 1.0 Depth10

B x 200A
200

D 200

105
E x 200

Ground terminal for user (M4)

H

H

10
0

56
11

8

55105

190 65
(Note 2)

65
(Note 2)

L

165+/-3 (Note 1)

165+/-3 (Note 1)Effective stroke

10555

98
150
190

Effective stroke
(250: Minimum distance between carrier)

150
988-M6 x 1.0 Depth148-M6 x 1.0 Depth14

Cross-section H-H

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

ϕ6.5
ϕ8.2

Detail of section J

G +/-0.02

2-ϕ10H7 Depth17
See cross-section H-H. (Note 5)

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

F-ϕ7 Depth6 See cross-section H-H. (Note 3)

2-ϕ6H7 Depth102-ϕ6H7 Depth10

Cross-section of cable carrier

N15D:�Wall�installation�/�Standard�Cable�carrier�speci¿cation

2-M5 x 0.8 Depth10 50

12

14

3.
7 R0.340

R0.3

7.2

2.
5

7

4.5

Use M6×1.0 hex socket 
head bolt with length head 
bolt with length (under head) 
of 20mm or more.

25

26
0

(N
ot

e 
8)

34

J

14
5

24

14
5

12
3

120

85

H

H

(D)

(A)
C-M6 x 1.0 Depth10

B x 200A
200

10
0

D 200

105

E x 200

56
11

8

Ground terminal for user (M4)

KK

55105

190 65
(Note 2)

150

L

8-M6 x 1.0 Depth14 98

65 (Note 2)

165+/-3 (Note 1)
165+/-3 (Note 1)Effective stroke

10555

98 8-M6 x 1.0 Depth14
150
190

Effective stroke
(250: Minimum distance between carrier)

Cross-section H-H

(ϕ
11

)

(ϕ
7)

(6)

(ϕ
10

H
7)

(17)

VIEW K

ϕ6.5
ϕ8.2

Detail of section J

G +/-0.02

2-ϕ10H7 Depth17
See cross-section H-H. (Note 5)

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

13
4 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

F-ϕ7 Depth6 See cross-section H-H. (Note 3)

2-ϕ6H7 Depth10 2-ϕ6H7 Depth10

Cross-section of cable carrier



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

N18

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ����

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���5�
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����5
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

������������������������������������������

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ���� ��NJ ���� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�
FDUULHG�DW�D�JXLGH�VHUYLFH�OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ϕ��
%DOO�VFUHZ�OHDG��PP� ��

0D[LPXP�VSHHG�1RWH����PP�VHF� ����

0D[LPXP�SD\ORDG��NJ� ��

5DWHG�WKUXVW��1� ���

6WURNH��PP� ����WR����������PP�SLWFK�

2YHUDOO�OHQJWK��PP� 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 5HSHDWDELOLW\�IRU�VLQJOH�RVFLOODWLRQ�
1RWH���� 7KH�PD[LPXP�VSHHG�PD\�QRW�EH�UHDFKHG�ZKHQ�WKH�PRYLQJ�

GLVWDQFH�LV�VKRUW�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

1�� ��
0RGHO /HDG�

GHVLJQDWLRQ
&DEOH�FDUULHU�

HQWU\�ORFDWLRQ�1RWH��

5+��+RUL]RQWDO��ULJKW
/+��+RUL]RQWDO��OHIW
5:��:DOO��ULJKW
/:��:DOO��OHIW

N18:�Horizontal�installation�/�Standard�Cable�carrier�speci¿cation���

(30)

50

12

2-M5 x 0.8 Depth11

11
4

(N
ot

e 
9)

11
5

36
22

F
180

179
156 58

(61)

(6
5)

14

40

4.
57.
2

2.5 3.7
7

R0.3R1

98
150
190

16
8

8-M8 x 1.25 Depth25

181+/-3: L-side origin position
(181: When origin is on R side)

Effective stroke 181+/-3: R-side origin position
(181: When origin is on L side)

L

78+/-1
(Note 1)

78
(Note 1)

(Note 7)

Ground terminal for user (M4)

E

200
A B x 200 (A)

106 D+/-0.02

14
9

11
3

Cross-section E-E

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

(B
et

we
en

 k
no

ck
s 
ϕ6

H7
 +/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 2)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

ϕ1
4

(ϕ
9)

(ϕ
10

H
7)

Cross-section of cable carrier

(D
ia

m
et

er
 o

r r
ol

le
r: 
ϕ2

0)

E

16
5

180 86

57
73

35 25

58

11
4

180 61 14

40

M typeS type Standard cable carrier Optional cable carrier

Space for optional 
cable for users

Note. Cannot pass more 
than 3 urethane 
hoses (ϕ6 x 4).

1RWH����To�¿nd�information�on�cable�carrier�extraction�directions�see�P.197.
1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�cable.��

6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�
1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; ��� 5
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 5��:LWK�5*7 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9�����WR����: /��:LWK�/&' 31��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; �� 5
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

��������WR����: 1R�HQWU\��6WDQGDUG 5��:LWK�5*� 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

&DEOH�FDUULHU�
speci¿cation

2ULJLQ�SRVLWLRQ�FKDQJH *UHDVH�W\SH 6WURNH &DEOH�OHQJWK�1RWH��

+RUL�
]RQWDO

1RQH��5�VLGH��6WDQGDUG� 1RQH��6WDQGDUG ����WR�����
����PP�SLWFK�

�/�����P�
6��6WDQGDUG�
&DEOH�FDUULHU

=��/�VLGH *&��&OHDQ �/���P

:DOO
1RQH��/�VLGH��6WDQGDUG� ��/����P

0��2SWLRQDO�
&DEOH�FDUULHU

=��5�VLGH �.��.���.
�)OH[LEOH�FDEOH�

5'9�;� � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

1RWH�����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH���� :KHQ�XVLQJ�ϕ��KROHV�IRU�LQVWDOODWLRQ��GR�QRW�XVH�D�ZDVKHU��VSULQJ�ZDVKHU��HWF��LQ�WKH�PDLQ�XQLW�
1RWH�����:KHQ�VKLSSHG�IURP�WKH�IDFWRU\��WKH�KRUL]RQWDO�PRGHO�KDV�WKH�RULJLQ�RQ�WKH�ULJKW�VLGH�DQG�WKH�ZDOO�PRGHO�

KDV�WKH�RULJLQ�RQ�WKH�OHIW�VLGH���7KLV�GLDJUDP�VKRZV�WKH�PDFKLQH�ZKRVH�FDEOH�FDUULHU�WDNHQ�RXW�IURP�ULJKW��
1RWH�����If�the�model�is�a�standard�cable�carrier�speci¿cation,�it�is�not�possible�to�pass�3�or�more�ϕ��é���XUHWKDQH�DLU�KRVHV�

1RWH�����:KHQ�XVLQJ�D�ϕ��+��KROH��PDNH�VXUH�WKDW�WKH�SLQ�GRHV�QRW�JR�LQWR�GHHSHU�WKDQ�DV�VKRZQ�LQ�WKH�GUDZLQJ�
1RWH�����&RQWDFW�XV�IRU�YHUWLFDO�LQVWDOODWLRQ�
1RWH���� )RU�WKH�URERW�ZLWK�PRUH�WKDQ�������VWURNH��D�UROOHU�LV�LQVWDOOHG�WR�SUHYHQW�WKH�FDEOH�FDUULHU�KDQJLQJ�
1RWH���� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV���NJ�KHDYLHU�WKDQ�

WKH�PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH���� 'HSHQGLQJ�RQ�WKH�VWURNH�DQG�WKH�RSHUDWLQJ�FRQGLWLRQV��WKH�FDEOH�FDUULHU�EHQGLQJ�UDGLXV�

PLJKW�EH�ODUJHU��PDNLQJ�LW�KLJKHU�WKDQ�WKH�GLPHQVLRQV�VKRZQ�LQ�WKH�GLDJUDP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ���

% � � � � � � � � � � � � � �� �� �� �� �� �� �� �

& � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU

�&DEOH�FDUULHU�IRU�XVHUV



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
O

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

N18

N18:�Horizontal�installation�/�Optional�Cable�carrier�speci¿cation���

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

(30)

50

12

2-M5 x 0.8 Depth11

11
5

36
22

F

180

179
156

16
5

(N
ot

e 
9)

86

73
57

35 25 4.
5

7.
2

2.5 3.7
7

R0.3R1

98
150
190

181+/-3: L-side origin position
(181: When origin is on R side)

Effective stroke 181+/-3: R-side origin position
(181: When origin is on L side)

L

78
(Note 1)

Ground terminal for user (M4)

11
3

E 200
A B x 200 (A)

106 D+/-0.02

14
9

E

8-M8 x 1.25 Depth25

78+/-1
(Note 1)

Cross-section E-E

VIEW K

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

16
8 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 2)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

ϕ1
4

(ϕ
9)

(ϕ
10

H
7)

Cross-section of cable carrier

N18:�Wall�installation�/�Optional�Cable�carrier�speci¿cation���
50

12

2-M5 x 0.8 Depth11

57
73

2535

3.
7

2.
5

7.2
4.5R1

R0.3

7

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

17
9

15
6

18
0

115
22

F
36

34
5

(N
ot

e 
9)

114

A B x 200

14
9

106

(A)
200E

E

Ground terminal for user (M4)

11
3

Effective stroke

98
150
190

181+/-3: L-side origin position
(181: When origin is on R side)

181+/-3: R-side origin position
(181: When origin is on L side)

78 (Note 1) 78+/-1 (Note 1)

55105

L

8-M8 x 1.25 Depth25

D+/-0.02

Cross-section E-E

VIEW K

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

C-ϕ9 Depth30 See cross-section E-E. (Note 2)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

Cross-section of
cable carrier

16
8 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

N18:�Wall�installation�/�Standard�Cable�carrier�speci¿cation���

50

12

2-M5 x 0.8 Depth11

14

40

4.5
7.2

2.
5

3.
7

7

R0.3

R1

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

(30)

17
9

15
6

10014

30
0

(N
ot

e 
9)

115
22
F

36

18
0

72

200

106

14
9

E

A B x 200 (A)

E

Ground terminal for user (M4)

11
3

Effective stroke 181+/-3: R-side origin position
(181: When origin is on L side)55

98
150
190

181+/-3: L-side origin position
(181: When origin is on R side)

8-M8 x 1.25 Depth25

105

78+/-1 (Note 1)78 (Note 1)

L

K

D+/-0.02

Cross-section E-E

VIEW K

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

16
8 

(B
et

w
ee

n 
kn

oc
ks

ϕ6
H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 2)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

ϕ1
4

(ϕ
9)

(ϕ
10

H
7)

Cross-section of cable carrier

(Diameter or roller: ϕ20)
(Note 7)



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

 t \Se
G

F
�W\SH

&RQWUROOHU 5&;��� u ��� 5&;��� u ��� 65��; u ��� 76�; u ��� 5'9�;�u ���

N18D

MPMR

MY

�8QLW��1ÂP�

0< 03 05

���� ���� ����

&RQWUROOHU 2SHUDWLRQ�PHWKRG

5&;����5
5&;���+3�5

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

65��;���5�1RWH�

76�;����5�1RWH� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG

5'9�;���
5%5��1RWH� 3XOVH�WUDLQ�FRQWURO

1RWH�����XQLWV�DUH�UHTXLUHG�ZKHQ�XVLQJ�
65��;��76�;�RU�5'9�;�

A

CB

�

C

B
A

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

/
H
D
G
��
� ��NJ ���� ���� ����

/
H
D
G
��
� ��NJ ���� ���� ����

��NJ ���� ��� ���� ��NJ ���� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�
OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\�1RWH����PP� �������

'HFHOHUDWLRQ�PHFKDQLVP %DOO�VFUHZ�ϕ��
%DOO�VFUHZ�OHDG��PP� ��

0D[LPXP�VSHHG�1RWH����PP�VHF� ����

0D[LPXP�SD\ORDG��NJ� ��

5DWHG�WKUXVW��1� ���

6WURNH��PP� ����WR�����������SLWFK�

2YHUDOO�OHQJWK��PP� 6WURNH����
0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO

3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 7KH�PD[LPXP�VSHHG�PD\�QRW�EH�UHDFKHG�ZKHQ�WKH�PRYLQJ�

GLVWDQFH�LV�VKRUW�
1RWH��� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

N18D:�Horizontal�installation�/�Standard�Cable�carrier�speci¿cation

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

50 122-M5 x 0.8 Depth11

11
4

(N
ot

e 
9)

11
5

36
22

F 180

179
156 58

(61)

(6
5)

40

14

3.7
7

2.5

7.
2

4.
5

R1 R0.3

98
150
190

181+/-3 (Note 1) Effective stroke
181+/-3 (Note 1)

L

78
(Note 2)

78
(Note 2)

(Note 7)

150
98

190

Effective stroke
(250: Minimum distance between carrier)

Ground terminal for user (M4)

11
3

E

200
A B x 200 (A)

106 D +/-0.02

14
9

E

(30)

8-M8 x 1.25 Depth25

Cross-section E-E

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

VIEW K

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 3)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

8-M8 x 1.25 Depth25
2-ϕ6H7 Depth10

ϕ1
4

(ϕ
9)

(  
10

H
7)

Cross-section of cable carrier

(D
ia

m
et

er
 o

r r
ol

le
r: 
ϕ2

0)

� 'RXEOH�FDUULDJH

1RWH����To�¿nd�controller�selection�options,�see�the�ordering�method�on�each�controller�page.
1RWH��� XQLWV�DUH�UHTXLUHG�ZKHQ�XVLQJ�65��;��76�;�RU�5'9�;�
1RWH����If�a�Àexible�cable�is�needed�for�the�SR1-X,�TS-X,�or�RDV-X,�then�select�3K/5K/10K.�On�the�RCX320/RCX222HP,�the�standard�cable�is�a�Àexible�cable,�so�enter�3L/5L/10L�

ZKHQ�RUGHULQJ�

1��' ��
0RGHO /HDG�GHVLJQDWLRQ ,QVWDOODWLRQ�GLUHFWLRQ Cable�carrier�speci¿cation 2SWLRQ 6WURNH &DEOH�OHQJWK &RQWUROOHU�1RWH��

+��+RUL]RQWDO�LQVWDOODWLRQ 6��6WDQGDUG�&DEOH�FDUULHU
*UHDVH�W\SH

1RQH��6WDQGDUG ����WR�����
����PP�SLWFK�

�/�����P� 5&;���
:��:DOO�LQVWDOODWLRQ 0��2SWLRQDO�&DEOH�FDUULHU *&��&OHDQ �/���P 5&;���+3

��/����P 65��;����XQLWV��1RWH��

�.��.���.
�)OH[LEOH�FDEOH�1RWH��

76�;����XQLWV��1RWH��

5'9�;����XQLWV��1RWH��

1RWH��� 3RVLWLRQ�RI�WDEOH�FDUULDJH�ZKHQ�VHDUFKHG�WR�WKH�RULJLQ�
1RWH�����6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�ERWK�HQGV�
1RWH��� :KHQ�XVLQJ�ϕ��KROHV�IRU�LQVWDOODWLRQ��GR�QRW�XVH�D�ZDVKHU��VSULQJ�ZDVKHU��HWF��LQ�WKH�PDLQ�XQLW�
1RWH�����If�the�model�is�a�standard�cable�carrier�speci¿cation,�it�is�not�possible�to�pass�3�or�more�ϕ��é���XUHWKDQH�DLU�KRVHV�

1RWH�����:KHQ�XVLQJ�D�ϕ��+��KROH��PDNH�VXUH�WKDW�WKH�SLQ�GRHV�QRW�JR�LQWR�GHHSHU�WKDQ�DV�VKRZQ�LQ�WKH�GUDZLQJ�
1RWH�����&RQWDFW�XV�IRU�YHUWLFDO�LQVWDOODWLRQ�
1RWH���� )RU�WKH�URERW�ZLWK�PRUH�WKDQ�������VWURNH��D�UROOHU�WR�SUHYHQW�WKH�FDEOH�FDUULHU�IURP�KDQJLQJ�LV�SURYLGHG�
1RWH��� :HLJKW�RI�PRGHOV�ZLWK�QR�EUDNH��7KH�ZHLJKW�RI�EUDNH�DWWDFKHG�PRGHOV�LV���NJ�KHDYLHU�WKDQ�WKH�

PRGHOV�ZLWK�QR�EUDNH�VKRZQ�LQ�WKH�WDEOH�
1RWH��� 'HSHQGLQJ�RQ�WKH�VWURNH�DQG�WKH�RSHUDWLQJ�FRQGLWLRQV��WKH�FDEOH�FDUULHU�EHQGLQJ�UDGLXV�PLJKW�EH�

ODUJHU��PDNLQJ�LW�KLJKHU�WKDQ�WKH�GLPHQVLRQV�VKRZQ�LQ�WKH�GLDJUDP�

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

/ ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

$ ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ���

% � � � � � � � � � � � � � �� �� �� �� �� �� �� ��
& � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

' ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

:HLJKW��NJ��1RWH�� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

16
5

180 86

57
73

35 25

58

11
4

180 61 14

40

M typeS type Standard cable carrier Optional cable carrier

Space for optional 
cable for users

Note. Cannot pass more 
than 3 urethane 
hoses (ϕ6 x 4).

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU

�&DEOH�FDUULHU�IRU�XVHUV



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�R

�W\SH
G
F
�W\SH

&RQWUROOHU 5&;��� u ��� 5&;��� u ��� 65��; u ��� 76�; u ��� 5'9�;�u ���

N18D

N18D:�Horizontal�installation�/�Optional�Cable�carrier�speci¿cation
(30)

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

50 12

2-M5 x 0.8 Depth11

180

156

F

179

22
36

11
5 16

5
(N

ot
e 

9)

86

2535

57
73

3.7
7

2.5

7.
2

4.
5

R1 R0.3

98
150
190

181+/-3 (Note 1) Effective stroke
181+/-3 (Note 1)

L

78
(Note 2)

78
(Note 2)150

98

190
Effective stroke

(250: Minimum distance between carrier)

Ground terminal for user (M4)

11
3

E 200
A B x 200 (A)

E
106

14
9

D+/-0.02

8-M8 x 1.25 Depth25

Cross-section E-E

2-ϕ6H7 Depth10

ϕ6.5
ϕ8.2

Detail of section F

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 3)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

8-M8 x 1.25 Depth25
2-ϕ6H7 Depth10

ϕ1
4

(ϕ
9)

(ϕ
10

H
7)

Cross-section of cable carrier

VIEW K

N18D:�Wall�installation�/�Optional�Cable�carrier�speci¿cation
2-M5 x 0.8 Depth11 1250

73
57

35 25

7.2

2.
5

7
3.

7

4.5

R0.3

R1

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more. 36

F
22

115

15
6

18
0

17
9

34
5

(N
ot

e 
9)

114

A B x 200
200E

14
9

106
E

(A)

Ground terminal for user use (M4)

11
3

78
(Note 1)

8-M8 x 1.25 Depth25150
98

190

10555

78
(Note 1)

8-M8 x 1.25 Depth25

(250: Minimum distance between carrier)

Effective stroke181+/-3 (Note 1)
Effective stroke 181+/-3 (Note 1)

L

190
150
98

D+/-0.02

Cross-section E-E

ϕ6.5
ϕ8.2

Detail of section F

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 3)

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)

2-ϕ6H7 Depth10 2-ϕ6H7 Depth10

Cross-section of cable carrier

VIEW K

N18D:�Wall�installation�/�Standard�Cable�carrier�speci¿cation

50 122-M5 x 0.8 Depth11

40

14

7
2.

5

7.2
4.5

R1

R0.3

3.
7

Use M8 x 1.25 hex socket 
head bolt with length head 
bolt with length (under head) 
of 40mm or more.

30
0

(N
ot

e 
9)

18
0

72

17
9

15
6

10014

115
22
F

36

A

14
9

106

200E

E

B x 200 (A)

Ground terminal for user (M4)

L

181+/-3 (Note 1) Effective stroke
(250: Minimum distance between carrier) Effective stroke 181+/-3 (Note 1)

10555

Note 7

98
150
190 78

(Note 2)

98
150
19078

(Note 2)

8-M8 x 1.25 Depth25

D
+/-0.02

(30)

Cross-section E-E

ϕ6.5
ϕ8.2

Detail of section F

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

16
8 

(B
et

w
ee

n 
kn

oc
ks

 ϕ
6H

7 
+/

-0
.0

2 )

C-ϕ9 Depth30 See cross-section E-E. (Note 3)

2-ϕ6H7 Depth10
8-M8 x 1.25 Depth25

2-ϕ6H7 Depth10

ϕ1
4

(ϕ
9)

(ϕ
10

H
7)

Cross-section of
cable carrier

(D
ia

m
et

er
 o

r r
ol

le
r: 
ϕ2

0)
 (N

ot
e 

7)

VIEW K

2-ϕ10H7 Depth15 See cross-section E-E. (Note 5)



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B10

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

������������������������������������������

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

�NJ ���� ���� ���� �NJ ���� ���� ����

�NJ ���� ��� ��� �NJ ��� ��� ����

�NJ ���� ��� ��� �NJ ��� ��� ���

��NJ ���� ��� ��� ��NJ ��� ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�
EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
%HOW��PP� (TXLYDOHQW�WR�OHDG���
0D[LPXP�VSHHG��PP�VHF� ����
0D[LPXP�SD\ORDG��NJ� ��
6WURNH��PP� ����WR����������PP�SLWFK�

2YHUDOO�
OHQJWK��PP�

0RWRU�
LQVWDOODWLRQ

/�5�W\SH 6WURNH������
$QRWKHU 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

%��
0RGHO 0RWRU�LQVWDOODWLRQ�GLUHFWLRQ 2SWLRQ 6WURNH &DEOH�OHQJWK�1RWH��

/��0RWRU�OHIWZDUG��KRUL]RQWDO�SRVLWLRQ
*UHDVH�
W\SH

1RQH��
6WDQGDUG

����WR�����
����PP�SLWFK�

�/�����P�
5��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ �/���P
/8��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ *&��&OHDQ ��/����P
58��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ �.��.���.

�)OH[LEOH�FDEOH�/'��0RWRU�OHIWZDUG��ORZHU�SRVLWLRQ
5'��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ

%�����5�W\SH��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ�

2-ϕ5H7 Depth8
4-M5 x 0.8 Depth8

272.5+/-3
215 (Note 1) 90

70
67.5

(Note 1)

(125)Effective stroke

167

Detail of section G

4.
3

7.
3

3.5
1

2

89.5
175

85.5

78
1 L+87.5

(The same position on the opposite 
surface at 2 locations)

4-M5 x 0.8 Depth1050 20

5

73
.5

86 (Between knocks +/-0.02)
100

35
.5

16
81

G 100

Grounding terminal

E

AM x 200172.5 100
200 N-M5 x 0.8 Depth10

40

80

D-ϕ10H7: See cross-section E-E.
C+/-0.0257 B+/-0.02

EH
5

(13)
Cross-section E-E 

VIEW H

(M5, ϕ5H7 position)

(ϕ
10

H
7)

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�
FDEOH���
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�;� � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

�0RWRU�LQVWDOODWLRQ���7KH�OLQH�XS�FRQVLVWLQJ�RI�VL[�PRGHOV�RI�GHIHUHQW�PRWRU�LQVWDOODWLRQ�SRVLWLRQ�DV�IROORZV�

/�W\SH /HIWZDUG�DW�
KRUL]RQWDO�
SRVLWLRQ

5�W\SH 5LJKWZDUG�
DW�KRUL]RQWDO�
SRVLWLRQ

/8�W\SH 58�W\SH /'�W\SH 5'�W\SH/HIWZDUG�DW�
XSSHU�SRVLWLRQ

5LJKWZDUG�DW�
XSSHU�SRVLWLRQ

/HIWZDUG�DW�
ORZHU�SRVLWLRQ

5LJKWZDUG�DW�
ORZHU�SRVLWLRQ

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ����
/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ���
% ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ����
& ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ±
' � � � � � � � � � � � � � � � � � � � � � � � � �
0 ± � � � � � � � � � � � � � � � � � � � � � � � �
1 � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

:HLJKW��NJ� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

(IIHFWLYH�VWURNH ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
$ �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ���
% ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
& ± ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ����
' � � � � � � � � � � � � � � � � � � � � � � � �
0 � � � � � � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �
1 �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

1RWH���� 6WRS�SRVLWLRQV�DUH�
GHWHUPLQHG�E\�WKH�
PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�
LQ�XSZDUG��GRZQZDUG��
IRUZDUG�RU�UHDUZDUG�
directions.�(This�¿gure�
VKRZV�WKH�IRUZDUG�
GLUHFWLRQ��

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B10

%�����58�W\SH��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ�

127.5 (Note 1)

185+/-3
90

Effective stroke

70
67.5

(Note 1)

(125)

3.5
1

4.
3

2

7.
3

16
8

89.5
175

85.5 781.5

5

50 20

L

73
.5

100

G

35
.5

100

16
81

AM x 20085 100
200 N-M5 x 0.8 Depth10

40

E

C+/-0.02B+/-0.0257
Grounding terminal E

80

(13)
5

2-ϕ5H7 Depth8
4-M5 x 0.8 Depth8

Detail of section G

(The same position on the opposite 
surface at 2 locations)

4-M5 x 0.8 Depth10
86 (Between knocks +/-0.02)

D-ϕ10H7: See cross-section E-E.
Cross-section E-E 

(M5, ϕ5H7 position)

(ϕ
10

H
7)

%�����/8�W\SH��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ�

127.5 (Note 1)

185+/-3
90

70

Effective stroke
67.5

(Note 1)

(125)

3.5
1

4.
3

2

7.
3

G

100

35
.5

100

81
1673

.5

L

5

50 20

781.589.5
175

85.5

16
8

85 10040

Grounding terminal

M x 200
200 N-M5 x 0.8 Depth10

A

E

80

C+/-0.02B+/-0.02
E

57

4-M5 x 0.8 Depth8

(13)
5

2-ϕ5H7 Depth8

(The same position on the opposite
surface at 2 locations)

4-M5 x 0.8 Depth10
86 (Between knocks +/-0.02)

D-ϕ10H7: See cross-section E-E.
Cross-section E-E 

(M5, ϕ5H7 position)

(ϕ
10

H
7)

Detail of section G

%�����5'�W\SH��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ�

127.5 (Note 1)

185+/-3

Grounding terminal
4-M5 x 0.8 Depth8

90
70

Effective stroke
67.5

(Note 1)

(125)

89.5

79
88

16
7

85.5

781.5 L

5

50 20
100

73
.5

3.5
1

4.
3

2

7.
3

35
.5

100

16
81

G

E

C+/-0.02B+/-0.02

AM x 20085 100
200 N-M5 x 0.8 Depth10

40

E
57

80

(13)
5

2-ϕ5H7 Depth8

Detail of section G

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth10 86 (Between knocks +/-0.02)

D-ϕ10H7: See cross-section E-E.
Cross-section E-E 

(M5, ϕ5H7 position)

( ϕ
10

H
7)

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�GRZQZDUG�GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�XSZDUG�GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�GRZQZDUG�GLUHFWLRQ��



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B14

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

A

CB C

B
A

������������������������������������������

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

�NJ ���� ���� ��� �NJ ���� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ���

��NJ ���� ��� ��� ��NJ ��� ��� ���

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�
EHLQJ�FDUULHG�DW�D�JXLGH�VHUYLFH�OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
%HOW��PP� (TXLYDOHQW�WR�OHDG���PP
0D[LPXP�VSHHG��PP�VHF� ����
0D[LPXP�SD\ORDG��NJ� ��
6WURNH��PP� ����WR����������PP�SLWFK�

2YHUDOO�
OHQJWK��PP�

0RWRU�
LQVWDOODWLRQ

/�5�W\SH 6WURNH������
$QRWKHU 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH���� 3RVLWLRQ�GHWHFWRUV��UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�

absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

%��
0RGHO 0RWRU�LQVWDOODWLRQ�GLUHFWLRQ 2SWLRQ 6WURNH &DEOH�OHQJWK�1RWH��

/��0RWRU�OHIWZDUG��KRUL]RQWDO�SRVLWLRQ
*UHDVH�
W\SH

1RQH��
6WDQGDUG

����WR�����
���PP�SLWFK�

�/�����P�
5��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ �/���P
/8��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ *&��&OHDQ ��/����P
58��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ �.��.���.

�)OH[LEOH�FDEOH�/'��0RWRU�OHIWZDUG��ORZHU�SRVLWLRQ
5'��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ

%�����5�W\SH��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ�
Effective stroke (128)297.5+/-3

90
70 2-ϕ6H7 Depth10

70.5
(Note 1)

240 (Note 1)

32 8-M6 x 1.0 Depth16

167

5.
5

8.
3

3.5
1.5 1.5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

136

94
34

.5
22

.5

G

12
.52050

90
.5

L+87.5

90
11

78

9283
175 100

200
B x 200 A

M-M6 x 1.0 Depth10

85 E+/-0.02D+/-0.02

10
0

60

C+/-0.02

172.5

JH

J

Grounding terminal 5.5
18.5

Detail of section G

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth12

F-ϕ10H7 See cross-section J-J. Cross-section J-J 
VIEW H

(ϕ
10

H
7)

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�
FDEOH���
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0 � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
$ � �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ���
% � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
& ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
' � � � � � � � � � � � � � � � � � � � � � � ��� ��� ��� ��� ��� ��� ��� �
( � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
) � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

:HLJKW��NJ� ��� ���� ���� ���� �� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� �� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� �� ����

(IIHFWLYH�VWURNH ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0 �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
$ ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
% � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
& ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
' ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
( � � � � � � � � � � � � � � � ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��
) � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� �� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� �� ���� ���� ���� ���� ���� ����

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�IRUZDUG�GLUHFWLRQ��

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

�0RWRU�LQVWDOODWLRQ���7KH�OLQH�XS�FRQVLVWLQJ�RI�VL[�PRGHOV�RI�GHIHUHQW�PRWRU�LQVWDOODWLRQ�SRVLWLRQ�DV�IROORZV�

/�W\SH /HIWZDUG�DW�
KRUL]RQWDO�
SRVLWLRQ

5�W\SH 5LJKWZDUG�
DW�KRUL]RQWDO�
SRVLWLRQ

/8�W\SH 58�W\SH /'�W\SH 5'�W\SH/HIWZDUG�DW�
XSSHU�SRVLWLRQ

5LJKWZDUG�DW�
XSSHU�SRVLWLRQ

/HIWZDUG�DW�
ORZHU�SRVLWLRQ

5LJKWZDUG�DW�
ORZHU�SRVLWLRQ

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B14

%�����58�W\SH��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ�
210+/-3

152.5 (Note 1) 90
70
32

Effective stroke (128)
70.5

(Note 1)

16
7

17
8

119283
175

1.5 L78

12
.52050

90
.5

1.5
3.5

1.5

8.
3

5.
5

146

136

94
34

.5
22

.5

G

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

100
200

B x 200 A
M-M6 x 1.0 Depth10

85 E+/-0.02D+/-0.02

10
0

60

C+/-0.02

Grounding terminal

85

H

H

2-ϕ6H7 Depth10
8-M6 x 1.0 Depth16

5.5
18.5

Detail of section G

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth12

F-ϕ10H7: See cross-section H-H.
Cross-section H-H 

(ϕ
10

H
7)

%�����/8�W\SH��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ�
210+/-3 Effective stroke (128)

152.5 (Note 1)

78

70.5
(Note 1)

90
70
32

1.5

16
7

17
8

92 83
175

11

12
.5

2050

90
.5

L

5.
5

8.
3

1.5
3.5

1.5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

136

34
.5

22
.5

G

94

100
200

B x 200 A
M-M6 x 1.0 Depth10

10
0

60
Grounding terminal

85

85 E+/-0.02D+/-0.02C+/-0.02
H

H

8-M6 x 1.0 Depth16

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite
surface at 2 locations)

4-M5 x 0.8 Depth12

F-ϕ10H7: See cross-section H-H. Cross-section H-H 

(ϕ
10

H
7)

%�����5'�W\SH��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ�
210+/-3 Effective stroke (128)

90
70
32

152.5 (Note 1)

8-M6 x 1.0 Depth16
Grounding
terminal

70.5 (Note 1)

(5
)83 92

89
16

7
78

1.5
3.5
1.5

8.
3

5.
5

12
.52050

L781.5

90
.5

136
94

34
.5

22
.5

G

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

E+/-0.02

10
0

C+/-0.02 D+/-0.02

H

100
200

B x 200 A
M-M6 x 1.0 Depth10

6085

H
85

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite surface at 2 locations)
4-M5 x 0.8 Depth12

F-ϕ10H7: See cross-section H-H.
Cross-section H-H 

(ϕ
10

H
7)

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�
RU�UHDUZDUG�GLUHFWLRQV���7KLV�
¿gure�shows�the�downward�
GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�XSZDUG�GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�GRZQZDUG�GLUHFWLRQ��



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B14H

&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���1RWH��
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;����1RWH�
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;����1RWH�

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

1RWH���$�UHJHQHUDWLYH�XQLW�LV�QHHGHG�
LI�XVLQJ�WKH�65��;��76�;�DW�
PD[LPXP�VSHHGV�H[FHHGLQJ�
����PP�VHF��

MPMR

MY

�8QLW��1ÂP�

0< 03 05

��� ��� ���

A

CB C

B
A

������������������������������������������

+RUL]RQWDO�LQVWDOODWLRQ������8QLW��PP� :DOO�LQVWDOODWLRQ��������8QLW��PP�

$ % & $ % &

�NJ ���� ���� ���� �NJ ���� ���� ����

��NJ ���� ���� ���� ��NJ ���� ���� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

��NJ ���� ��� ��� ��NJ ��� ��� ����

1RWH���'LVWDQFH�IURP�FHQWHU�RI�VOLGHU�WRS�WR�FHQWHU�RI�JUDYLW\�RI�REMHFW�EHLQJ�
FDUULHG�DW�D�JXLGH�VHUYLFH�OLIH�RI��������NP�

$&�VHUYR�PRWRU�RXWSXW��:� ���
5HSHDWDELOLW\�1RWH����PP� �������
%HOW��PP� (TXLYDOHQW�WR�OHDG���PP
0D[LPXP�VSHHG��PP�VHF� �����������1RWH���
0D[LPXP�SD\ORDG��NJ� ��
6WURNH��PP� ����WR���������PP�SLWFK�

2YHUDOO�
OHQJWK��PP�

0RWRU�
LQVWDOODWLRQ

/�5�W\SH 6WURNH������
$QRWKHU 6WURNH����

0D[LPXP�GLPHQVLRQV�RI�FURVV�
VHFWLRQ�RI�PDLQ�XQLW��PP� :����é�+��

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������
/LQHDU�JXLGH�W\SH ��URZV�RI�FLUFXODU�DUF�JURRYHV�é���UDLO
3RVLWLRQ�GHWHFWRU 5HVROYHUV�1RWH��

5HVROXWLRQ��3XOVH�URWDWLRQ� �����
1RWH���� 3RVLWLRQLQJ�UHSHDWDELOLW\�LQ�RQH�GLUHFWLRQ�
1RWH��� $�UHJHQHUDWLYH�XQLW�LV�QHHGHG�LI�XVLQJ�WKH�65��;��76�;�DW�PD[LPXP�

VSHHGV�H[FHHGLQJ�����PP�VHF��,I�XVLQJ�WKH�5'9�;��WKHQ�WKH�UHJHQHUDWLYH�
XQLW�5%5��LV�UHTXLUHG�UHJDUGOHVV�RI�WKH�LQVWDOODWLRQ�FRQGLWLRQV

1RWH�����3RVLWLRQ�GHWHFWRUV�UHVROYHUV��DUH�FRPPRQ�WR�LQFUHPHQWDO�DQG�
absolute�speci¿cations.�If�the�controller�has�a�backup�function�
then�it�will�be�absolute�speci¿cations.

%��+
0RGHO 0RWRU�LQVWDOODWLRQ�GLUHFWLRQ 2SWLRQ 6WURNH &DEOH�OHQJWK�1RWH��

/��0RWRU�OHIWZDUG��KRUL]RQWDO�SRVLWLRQ
*UHDVH�
W\SH

1RQH��
6WDQGDUG

����WR�����
���PP�SLWFK�

�/�����P�

5��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ �/���P

/8��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ *&��&OHDQ ��/����P

58��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ �.��.���.
�)OH[LEOH�FDEOH�/'��0RWRU�OHIWZDUG��ORZHU�SRVLWLRQ

5'��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ

%��+���5�W\SH��0RWRU�ULJKWZDUG��KRUL]RQWDO�SRVLWLRQ�

240 (Note 1) 140
124

322.5+/-3

70

167

8-M6 x 1.0 Depth16

Effective stroke (153)

70.5
(Note 1)

5.
5

8.
3

1.5
3.5

1.5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

136

94
34

.5
22

.5

G

90
.5

L+87.5

12
.54550

195
103

78

92 11
90

Grounding terminal

100172.5 108
J

JH

200
B x 200

85 D+/-0.02C+/-0.02

A
M-M6 x 1.0 Depth10

E+/-0.02

10
0

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite 
surface at 2 locations)

4-M5 x 0.8 Depth12

F-ϕ10H7: 
See cross-section J-J.

Cross-section J-J VIEW H

(ϕ
10

H
7)

1RWH����The�robot�cable�is�standard�cable�(3L/5L/10L),�but�can�be�changed�to�Àexible�
FDEOH���
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76; 5
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
5HJHQHUDWLYH�XQLW /&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 5��:LWK�5*7 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; �� 5
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( 5HJHQHUDWLYH�XQLW ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 5��:LWK�5*� 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

(IIHFWLYH�VWURNH ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0 � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
$ ± �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� ��
% � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
& ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
' ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ��� ��� ��� ��� ��� ��� ��� ��� ���
( ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ±
) � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����

(IIHFWLYH�VWURNH ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
/ ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
0 �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
$ ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ��� ��� ��� �� ���
% � � � � � � � �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� �� ��
& ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
' ��� ��� ��� ��� ��� ��� ��� ��� ��� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����
( ± ± ± ± ± ± ± ± ± ± ± ± ± ± ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ��� ���
) � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

:HLJKW��NJ� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ���� ����� ����

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�
RU�UHDUZDUG�GLUHFWLRQV���7KLV�
¿gure�shows�the�forward�
GLUHFWLRQ��

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

�0RWRU�LQVWDOODWLRQ���7KH�OLQH�XS�FRQVLVWLQJ�RI�VL[�PRGHOV�RI�GHIHUHQW�PRWRU�LQVWDOODWLRQ�SRVLWLRQ�DV�IROORZV�

/�W\SH /HIWZDUG�DW�
KRUL]RQWDO�
SRVLWLRQ

5�W\SH 5LJKWZDUG�
DW�KRUL]RQWDO�
SRVLWLRQ

/8�W\SH 58�W\SH /'�W\SH 5'�W\SH/HIWZDUG�DW�
XSSHU�SRVLWLRQ

5LJKWZDUG�DW�
XSSHU�SRVLWLRQ

/HIWZDUG�DW�
ORZHU�SRVLWLRQ

5LJKWZDUG�DW�
ORZHU�SRVLWLRQ

2UGHULQJ�PHWKRG

�Speci¿cations �$OORZDEOH�RYHUKDQJ�1RWH �6WDWLF�ORDGLQJ�PRPHQW

�&RQWUROOHU



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

B
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

B14H

%��+���58�W\SH��0RWRU�ULJKWZDUG��XSSHU�SRVLWLRQ�

152.5 (Note 1)
235+/-3

140
124
70 8-M6 x 1.0 Depth16

Effective stroke (153)
70.5

(Note 1)

1.5
3.5

1.5

8.
3

5.
5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

136

94
34

.5
22

.5

G

12
.5

90
.5

L

4550

1.5 78

195
103 92

16
7

11
17

8

H

A
M-M6 x 1.0 Depth10

E+/-0.02D+/-0.02

10
0

H

100
200

B x 20085 108

85 C+/-0.02Grounding terminal

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite 
surface at 2 locations)

4-M5 x 0.8 Depth12

F-ϕ10H7: See cross-section H-H.
Cross-section H-H 

(ϕ
10

H
7)

%��+���/8�W\SH��0RWRU�OHIWZDUG��XSSHU�SRVLWLRQ�

152.5 (Note 1)
235+/-3

140

8-M6 x 1.0 Depth16

Effective stroke (153)
70.5

(Note 1)124
70

781.5

195
10392

17
8

16
7

11

5.
5

8.
3

1.5
3.5

1.5

12
.54550

L

90
.5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

136

94
34

.5
22

.5

G

H

H
100

200
B x 200 A

M-M6 x 1.0 Depth10

85 E+/-0.02D+/-0.02

85

C+/-0.02

Grounding
terminal

108

10
0

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite
surface at 2 locations)

4-M5 x 0.8 Depth12

Cross-section H-H 

(ϕ
10

H
7)

F-ϕ10H7: See cross-section H-H.

%��+���5'�W\SH��0RWRU�ULJKWZDUG��ORZHU�SRVLWLRQ�

152.5 (Note 1)
235+/-3

140
124Grounding terminal
70 8-M6 x 1.0 Depth16

Effective stroke (153)

70.5
(Note 1)

5.
5

8.
3

1.5
3.5

1.5

134 (Between knocks +/-0.02)
(M6, ϕ6H7 position)

146

94
34

.5
22

.5
136G

12
.54550

1.5 L78

89
78

16
7

92103 (5
)

H
100

200
B x 200 A

M-M6 x 1.0 Depth10
85 108

90
.5

2-ϕ6H7 Depth10

5.5
18.5

Detail of section G

(The same position on the opposite 
surface at 2 locations)

4-M5 x 0.8 Depth12

Cross-section H-H 

(ϕ
10

H
7)

H
85 E+/-0.02D+/-0.02C+/-0.02

F-ϕ10H7: See cross-section H-H.

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�GRZQZDUG�GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�XSZDUG�GLUHFWLRQ��

1RWH���� 6WRS�SRVLWLRQV�DUH�GHWHUPLQHG�
E\�WKH�PHFKDQLFDO�VWRSSHUV�DW�
ERWK�HQGV�

1RWH���� &DEOHV�FDQ�EH�H[WUDFWHG�LQ�
XSZDUG��GRZQZDUG��IRUZDUG�RU�
rearward�directions.�(This�¿gure�
VKRZV�WKH�GRZQZDUG�GLUHFWLRQ��



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

R
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

2UGHULQJ�PHWKRG

R5

�0D[LPXP�DOORZDEOH�PRPHQW�LQHUWLD
3D\ORDG�SDUDPHWHUV�:��NJ� � � � � � � � � � �

0D[LPXP�DOORZDEOH�
PRPHQW�LQHUWLD�-��NJIFPV��

���� ���� ���� ���� ���� ���� ���� ���� ���� ����

J

W

1RWH���:KHQ�WKH�ZHLJKW�RI�D�WRRO�RU�ZRUNSLHFH�DWWDFKHG�WR�WKH�VKDIW�
5��LV�:��NJ���LWV�PRPHQW�RI�LQHUWLD��-��PXVW�EH�VPDOOHU�WKDQ�
WKH�YDOXHV�VKRZQ�LQ�WKH�WDEOH�DERYH���)RU�H[DPSOH��HQWHU��NJ�
LI�:�LV��NJ�DQG�-�LV�����NJI�FP�VHF����(QWHU�WKH�DERYH�PDVV�
SDUDPHWHU�YDOXH�IRU�WKH�FRQWUROOHU��DQG�RSWLPXP�DFFHOHUDWLRQ�
LV�DXWRPDWLFDOO\�VHW�EDVHG�RQ�WKLV�YDOXH�

1RWH��)RU�FDOFXODWLRQ��HTXDWLRQ��RI�WKH�LQHUWLD�PRPHQW��SOHDVH�UHIHU�WR�3�����

�Speci¿cations
$&�VHUYR�PRWRU�RXWSXW��:� ��

5HSHDWDELOLW\���� ���������

0D[LPXP�VSHHG����VHF� ���

0D[LPXP�DOORZDEOH�PRPHQW�
LQHUWLD��NJP�>NJIFPV�@�

�����>���@

5DWHG�WRUTXH��1P>NJIP@� �����>����@

6SHHG�UHGXFWLRQ�UDWLR ����

5RWDWLRQ�UDQJH���� ���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

6SHHG�UHGXFHU�W\SH +DUPRQLF�GULYH

3RVLWLRQ�GHWHFWRU 5HVROYHUV

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

5�
0RGHO &DEOH�HQWU\�ORFDWLRQ &DEOH�OHQJWK�1RWH��

1R�HQWU\��6WDQGDUG��6� �/�����P�
%��)URP�WKH�VLGH �/���P

��/����P
�.��.���.
�)OH[LEOH�FDEOH�

�&RQWUROOHU
&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

5�

(77)

M8 x 1.25 Depth20

19
(Width across flat)

56
.6

56.6
72

76

4-M6 x 1.0 Depth16

M
A

X
. 3

0

37
.5

3520

57

13

Approx. 150
(Cable length)

49

22
.5

707 4-M6 x 1.0 Depth16 Note 1

41
20 8

102

9.
5

14

242

60

4-ϕ6 Through hole
ϕ9.5 spot facing depth25

ϕ6
5h

7
ϕ2

2
ϕ2

0h
7

Grounding terminal (M4)

Cable take out direction

B S

1RWH����7KH�URERW�FDEOH�LV�VWDQGDUG�FDEOH�
��/��/���/���EXW�FDQ�EH�FKDQJHG�WR�
Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�

JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
��$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

:HLJKW��NJ� ��� 1RWH���7KH�FDEOH�H[WUDFWLRQ�SRUW�FDQ�EH�FKDQJHG�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
O

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

R
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

2UGHULQJ�PHWKRG

R10

�&RQWUROOHU
&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

�0D[LPXP�DOORZDEOH�PRPHQW�LQHUWLD
3D\ORDG�SDUDPHWHUV�:��NJ� � � � � � � � � � ��

0D[LPXP�DOORZDEOH�
PRPHQW�LQHUWLD�-��NJIFPV��

���� ���� ���� ���� ���� ���� ���� ���� ���� ����

3D\ORDG�SDUDPHWHUV�:��NJ� �� �� �� �� ��

0D[LPXP�DOORZDEOH�
PRPHQW�LQHUWLD�-��NJIFPV��

���� ���� ���� ���� ����

J

W

1RWH��:KHQ�WKH�ZHLJKW�RI�D�WRRO�RU�ZRUNSLHFH�DWWDFKHG�WR�WKH�VKDIW�
5���LV�:��NJ���LWV�PRPHQW�RI�LQHUWLD��-��PXVW�EH�VPDOOHU�WKDQ�
WKH�YDOXHV�VKRZQ�LQ�WKH�WDEOH�DERYH���)RU�H[DPSOH��HQWHU��NJ�
LI�:�LV��NJ�DQG�-�LV�����NJI�FP�VHF����(QWHU�WKH�DERYH�PDVV�
SDUDPHWHU�YDOXH�IRU�WKH�FRQWUROOHU��DQG�RSWLPXP�DFFHOHUDWLRQ�
LV�DXWRPDWLFDOO\�VHW�EDVHG�RQ�WKLV�YDOXH�

1RWH��)RU�FDOFXODWLRQ��HTXDWLRQ��RI�WKH�LQHUWLD�PRPHQW��SOHDVH�UHIHU�WR�3�����

�Speci¿cations
$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\���� ���������

0D[LPXP�VSHHG����VHF� ���

0D[LPXP�DOORZDEOH�PRPHQW�
LQHUWLD��NJP�>NJIFPV�@�

�����>����@

5DWHG�WRUTXH��1P>NJIP@� ������>����@

6SHHG�UHGXFWLRQ�UDWLR ����

5RWDWLRQ�UDQJH���� ���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

6SHHG�UHGXFHU�W\SH +DUPRQLF�GULYH

3RVLWLRQ�GHWHFWRU 5HVROYHUV

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

5��
0RGHO &DEOH�HQWU\�ORFDWLRQ &DEOH�OHQJWK�1RWH��

1R�HQWU\��6WDQGDUG��6� �/�����P�
%��)URP�WKH�VLGH �/���P

��/����P
�.��.���.
�)OH[LEOH�FDEOH�

5��

4-M6 x 1.0 Depth16

M
A

X.
 3

0

M8 x 1.25 Depth20

40

8160

(85)
80
50

Approx. 150
(Cable length)

16 5011

Grounding terminal (M4)

26
.5

20

11.5

11

106.539
820

262

66

4-M6 x 1.0 Depth16706

(Note 1)

11
.5

20 16

20
(Width across flat)

4-ϕ6.5 Through hole
ϕ11 spot facing depth35

ϕ6
6h

7
ϕ2

2
ϕ2

0h
7

Cable take out direction

B S

1RWH����7KH�URERW�FDEOH�LV�VWDQGDUG�FDEOH�
��/��/���/���EXW�FDQ�EH�FKDQJHG�WR�
Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH��� 6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�

JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

:HLJKW��NJ� ��� 1RWH���7KH�FDEOH�H[WUDFWLRQ�SRUW�FDQ�EH�FKDQJHG�



$
UWLFX

ODWH
G
�UR

E
R
WV

YA

/
LQ
HD

U�FR
Q
YH\R

U�
P
R
G
X
OH
V

LC
M
100

&
RP

S
DFW�

VLQ
J
OH
�D
[LV�UR

E
RWV

TRAN
SERVO

0
RWR

U�OH
VV�VLQ

J
OH�

D
[LV�D

FWXD
WRU

R
obonity

6
LQ
J
OH
�D
[LV�UR

E
RWV

FLIP-X

/
LQ
HD

U�P
RWR

U
VLQ

JOH
�D
[LV�UR

E
RWV

PH
A
SER

&
D
UWHVLDQ

UR
E
R
WV�

X
Y-X

6
&
$
5
$

UR
E
R
WV

Y
K-X

3
LFN�	

�S
OD
FH

UR
E
R
WV�

YP-X
C
LEA
N

CO
NTRO

LLER
INFORM

ATION

���

T
�W\SH

F
�W\SH

N
�W\SH

R
�W\SH

G
F
�W\SH

&RQWUROOHU 65��; u ��� 76�; u ��� 5'9�;�u ���

2UGHULQJ�PHWKRG

R20

�&RQWUROOHU
&RQWUROOHU 2SHUDWLRQ�PHWKRG

65��;���
5&;����
5&;�������
5&;���

3URJUDPPLQJ��
,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG��
2SHUDWLRQ�
XVLQJ�56����&�
FRPPXQLFDWLRQ

76�;��� ,�2�SRLQW�WUDFH��
5HPRWH�FRPPDQG76�;���

5'9�;����5%5� 3XOVH�WUDLQ�FRQWURO

�0D[LPXP�DOORZDEOH�PRPHQW�LQHUWLD
3D\ORDG�SDUDPHWHUV�:��NJ� � � � � � � � � � ��

0D[LPXP�DOORZDEOH�
PRPHQW�LQHUWLD�-��NJIFPV��

���� ��� ��� ��� ��� ��� ��� ��� ��� ���

3D\ORDG�SDUDPHWHUV�:��NJ� �� �� �� �� �� �� �� �� �� ��

0D[LPXP�DOORZDEOH�
PRPHQW�LQHUWLD�-��NJIFPV��

���� ���� ���� ���� �� ���� ���� ���� ���� ����

J

W

1RWH���:KHQ�WKH�ZHLJKW�RI�D�WRRO�RU�ZRUNSLHFH�DWWDFKHG�WR�WKH�VKDIW�
5���LV�:��NJ���LWV�PRPHQW�RI�LQHUWLD��-��PXVW�EH�VPDOOHU�WKDQ�
WKH�YDOXHV�VKRZQ�LQ�WKH�WDEOH�DERYH���)RU�H[DPSOH��HQWHU��NJ�
LI�:�LV��NJ�DQG�-�LV����NJI�FP�VHF����(QWHU�WKH�DERYH�PDVV�
SDUDPHWHU�YDOXH�IRU�WKH�FRQWUROOHU��DQG�RSWLPXP�DFFHOHUDWLRQ�
LV�DXWRPDWLFDOO\�VHW�EDVHG�RQ�WKLV�YDOXH�

1RWH��)RU�FDOFXODWLRQ��HTXDWLRQ��RI�WKH�LQHUWLD�PRPHQW��SOHDVH�UHIHU�WR�3�����

�Speci¿cations
$&�VHUYR�PRWRU�RXWSXW��:� ���

5HSHDWDELOLW\���� ���������

0D[LPXP�VSHHG����VHF� ���

0D[LPXP�DOORZDEOH�PRPHQW�
LQHUWLD��NJP�>NJIFPV�@�

�����>����@

5DWHG�WRUTXH��1P>NJIP@� ������>����@

6SHHG�UHGXFWLRQ�UDWLR ����

5RWDWLRQ�UDQJH���� ���

&DEOH�OHQJWK��P� 6WDQGDUG��������2SWLRQ������

6SHHG�UHGXFHU�W\SH +DUPRQLF�GULYH

3RVLWLRQ�GHWHFWRU ±

5HVROXWLRQ��3XOVH�URWDWLRQ� �����

5��
0RGHO &DEOH�HQWU\�ORFDWLRQ &DEOH�OHQJWK�1RWH��

1R�HQWU\��6WDQGDUG��6� �/�����P
%��)URP�WKH�VLGH �/���P

��/����P
�.��.���.
�)OH[LEOH�FDEOH�

5��

5-M8 x 1.25
Depth20 (P.C.D.20)

M
A

X
. 3

0

50

80
100

(105)

80 10
1

4-M6 x 1.0 Depth15

Approx. 150
(Cable length)

80

3520

275

30 3
50

111.5

16

60

39
22

Grounding
terminal (M4)

11

1622

20 65

(Note 1)

4-M6 x 1.0 Depth20

80

11

4-ϕ6.5 Through hole
ϕ11 spot facing depth40

ϕ3
5h

7
ϕ3

8
ϕ7

5h
80 -0
.2

ϕ9
8

Cable take out direction

B S

1RWH����7KH�URERW�FDEOH�LV�VWDQGDUG�FDEOH�
��/��/���/���EXW�FDQ�EH�FKDQJHG�WR�
Àexible�cable.��
6HH�3�����IRU�GHWDLOV�RQ�URERW�FDEOH�

1RWH����6HH�3�����IRU�',1�UDLO�PRXQWLQJ�EUDFNHW�
1RWH����6HOHFW�WKLV�VHOHFWLRQ�ZKHQ�XVLQJ�WKH�

JDWHZD\�IXQFWLRQ��)RU�GHWDLOV��VHH�3����

76;
3RVLWLRQHU�1RWH�� 'ULYHU��3RZHU�VXSSO\�YROWDJH��

3RZHU�FDSDFLW\
/&'�PRQLWRU ,�2�VHOHFWLRQ %DWWHU\

76�; 1R�HQWU\��1RQH 13��131 %��:LWK�EDWWHU\
�$EVROXWH���������9����:�RU�OHVV /��:LWK�/&' 31��313

��������9����:�RU�OHVV &&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

(3��(WKHU1HW�,370

37��352),1(7
*:��1R�,�2�ERDUG�1RWH��

65��; ��
&RQWUROOHU 'ULYHU��3RZHU�FDSDFLW\ 8VDEOH�IRU�&( ,�2�VHOHFWLRQ %DWWHU\

�������:�RU�OHVV 1R�HQWU\��6WDQGDUG 1��131 %��:LWK�EDWWHU\
�$EVROXWH�(��&(�PDUNLQJ 3��313

&&��&&�/LQN 1��1RQH
�,QFUHPHQWDO�'1��'HYLFH1HW70

3%��352),%86

5'9�; � �� 5%5�
'ULYHU 3RZHU�VXSSO\�YROWDJH 'ULYHU��3RZHU�FDSDFLW\ 5HJHQHUDWLYH�XQLW

���$&���9 �������:�RU�OHVV

:HLJKW��NJ� ��� 1RWH���7KH�FDEOH�H[WUDFWLRQ�SRUW�FDQ�EH�FKDQJHG�


